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Read the following passage and answer the question that follows :

Your body is almost two-thirds water, so staying hydrated is important. Teenagers should
aim to drink six to eight glasses of water per day, according to the British Nutrition Foundation.
That number increases for teens who engage in sports or are especially active. Other good sources
of fluid include 100 percent fruit juice and low-fat milk. Sugary and caffeinated drinks should be
limited or eliminated from the diet completely as they provide excess sugar and empty calories.

According to the Cleveland Clinic, teenagers need at least nine hours of sleep each night to
function at their best during the day. It sounds easy enough, but with early school start times, late
afternoon practices and hours of homework, getting enough sleep can be a challenge. Set a regular
bedtime that allows for nine hours of sleep before you have to get up for school. You should also
plan for at least an hour of “quiet time” prior to bedtime. The goal is for all electronics to be turned
off for the night so that the brain and body relax. Quiet time may involve listening to soothing
music or reading a book.

Sports persons need to stay hydrated. They should drink enough :
(1) water and 100% fruit juices

(2) water, milk, coffee

(3) water, juices, tea and coffee

(4) Sugary and caffeinated drinks as well as enough plain water

Options :

212807112001. 1
212807112002. 2
212807112003. 3
212807112004. 4
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Read the following passage and answer the question that follows :

Your body is almost two-thirds water, so staying hydrated is important. Teenagers should
aim to drink six to eight glasses of water per day, according to the British Nufrition Foundation.
That number increases for teens who engage in sports or are especially active. Other good sources
of fluid include 100 percent fruit juice and low-fat milk. Sugary and caffeinated drinks should be
limited or eliminated from the diet completely as they provide excess sugar and empty calories.

According to the Cleveland Clinic, teenagers need at least nine hours of sleep each night to
function at their best during the day. It sounds easy enough, but with early school start times, late
afternoon practices and hours of homework, getting enough sleep can be a challenge. Set a regular
bedtime that allows for nine hours of sleep before you have to get up for school. You should also
plan for at least an hour of “quiet time” prior to bedtime. The goal is for all electronics to be turned
off for the night so that the brain and body relax. Quiet time may involve listening to soothing
music or reading a book.

Why can’t teenagers get enough sleep ?

(A) early start at school

(B) lot of work at school

(C) lot of homework everyday

(D) busy with friends

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D)

(2) (A)and (C) only

(3) (A), (C) and (D) only

(4) (B), (C) and (D) only

Options :

212807112005. 1
212807112006. 2
212807112007. 3
212807112008. 4
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Read the following passage and answer the question that follows :

Your body is almost two-thirds water, so staying hydrated is important. Teenagers should
aim to drink six to eight glasses of water per day, according to the British Nufrition Foundation.
That number increases for teens who engage in sports or are especially active. Other good sources
of fluid include 100 percent fruit juice and low-fat milk. Sugary and caffeinated drinks should be
limited or eliminated from the diet completely as they provide excess sugar and empty calories.

According to the Cleveland Clinic, teenagers need at least nine hours of sleep each night to
function at their best during the day. It sounds easy enough, but with early school start times, late
afternoon practices and hours of homework, getting enough sleep can be a challenge. Set a regular
bedtime that allows for nine hours of sleep before you have to get up for school. You should also
plan for at least an hour of “quiet time” prior to bedtime. The goal is for all electronics to be turned
off for the night so that the brain and body relax. Quiet time may involve listening to soothing
music or reading a book.

Young people need to do the following in order to get a nine hour sleep :
(A) switch off electronics before bedtime

(B) switch off all electronics for the night

(C) find quiet time before bedtime

(D) find a quiet time & place to sleep

Choose the correct answer from the options given below :

(1) (B) and (C) only

(2) (A), (B), (O) and (D)

(3) (B), (C) and (D) only

(4) (A), (B) and (C) only

Options :

212807112009. 1
212807112010. 2
212807112011. 3
212807112012. 4
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Read the following passage and answer the question that follows :

Your body is almost two-thirds water, so staying hydrated is important. Teenagers should
aim to drink six to eight glasses of water per day, according to the British Nufrition Foundation.
That number increases for teens who engage in sports or are especially active. Other good sources
of fluid include 100 percent fruit juice and low-fat milk. Sugary and caffeinated drinks should be
limited or eliminated from the diet completely as they provide excess sugar and empty calories.

According to the Cleveland Clinic, teenagers need at least nine hours of sleep each night to
function at their best during the day. It sounds easy enough, but with early school start times, late
afternoon practices and hours of homework, getting enough sleep can be a challenge. Set a regular
bedtime that allows for nine hours of sleep before you have to get up for school. You should also
plan for at least an hour of “quiet time” prior to bedtime. The goal is for all electronics to be turned
off for the night so that the brain and body relax. Quiet time may involve listening to soothing
music or reading a book.

Choose the heading that best explains the two sections in the text given :
(A) Watch your beverage intake

(B) Eatright, sleep tight

(C) If you don’t snooze, you lose

(D) Making time for friends

Choose the correct answer from the options given below :

(1) (A)and (C) only

(2)  (A) and (B) only

(3)  (B) and (C) only

(4) (B) and (D) only
Options :

212807112013. 1
212807112014.2
212807112015. 3
212807112016. 4
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Read the following passage and answer the question that follows :

Your body is almost two-thirds water, so staying hydrated is important. Teenagers should
aim to drink six to eight glasses of water per day, according to the British Nufrition Foundation.
That number increases for teens who engage in sports or are especially active. Other good sources
of fluid include 100 percent fruit juice and low-fat milk. Sugary and caffeinated drinks should be
limited or eliminated from the diet completely as they provide excess sugar and empty calories.

According to the Cleveland Clinic, teenagers need at least nine hours of sleep each night to
function at their best during the day. It sounds easy enough, but with early school start times, late
afternoon practices and hours of homework, getting enough sleep can be a challenge. Set a regular
bedtime that allows for nine hours of sleep before you have to get up for school. You should also
plan for at least an hour of “quiet time” prior to bedtime. The goal is for all electronics to be turned
off for the night so that the brain and body relax. Quiet time may involve listening to soothing
music or reading a book.

Match List - I with List - I1.

List - 1 List - II
(A) Modal (I)  to be eliminated completely
(B) Adjective (IT)  should be eliminated
(C) Adverb (IIT) sugary, caffeinated drinks
(D) Passive voice (IV) electronics to be turned off

Choose the correct answer from the options given below :
(1) (A)-D), (B)-(II), (C)-(I), (D)-(IV)

(2)  (A)-1D), (B)-(ID), (©)-(D, (D)-(IV)
(3)  (A)-(D), (B)-(I), (O)-(1V), (D)-(II)
(4)  (A)-D), (B)-(I1), (V)-(IV), (D)-(1I)
Options :

212807112017. 1
212807112018.2
212807112019. 3
212807112020. 4
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Read the following passage and answer the question that follows :

Conducting an interview should be like painting by numbers if you are properly prepared.
Consider the various aspects of the interview that benefit from early preparation. Some of these
may seem obvious, but if left until the candidates are at the door, they can have a negative effect on
the process. A checklist will help to make sure everything is planned and some of the less obvious
considerations remembered.

Frequently overlooked is the choice of venue and its layout; this can affect the atmosphere of
the interview and how candidates respond. The room can feel forbidding, formal, relaxed or cosy,
depending on how the furniture is arranged and how the interviewers behave towards the
candidates.

Interviewing can be stressful for candidates and interviewers alike, so take account of this in
the timing of the interviews and briefing of the interviewers. Stress levels also influence how
interviewers behave towards the candidates; developing skills in how to question and supply
information to candidates will smooth the flow and help interviewers improve their performance.
Of course, question technique, active listening and observation skills benefit managers in other
areas of their work, too. The way in which the interview is ended also has an effect on the candidates
and may well effect whether the desired candidate decides whether to accept the offer of
employment or reject it.

Who is the intended audience of the passage ?
(1) Job applicants

(2) Students

(3) Teachers

(4) Interviewers

Options :

212807112021. 1
212807112022.2
212807112023. 3
212807112024. 4
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Read the following passage and answer the question that follows :

Conducting an interview should be like painting by numbers if you are properly prepared.
Consider the various aspects of the interview that benefit from early preparation. Some of these
may seem obvious, but if left until the candidates are at the door, they can have a negative effect on
the process. A checklist will help to make sure everything is planned and some of the less obvious
considerations remembered.

Frequently overlooked is the choice of venue and its layout; this can affect the atmosphere of
the interview and how candidates respond. The room can feel forbidding, formal, relaxed or cosy,
depending on how the furniture is arranged and how the interviewers behave towards the
candidates.

Interviewing can be stressful for candidates and interviewers alike, so take account of this in
the timing of the interviews and briefing of the interviewers. Stress levels also influence how
interviewers behave towards the candidates; developing skills in how to question and supply
information to candidates will smooth the flow and help interviewers improve their performance.
Of course, question technique, active listening and observation skills benefit managers in other
areas of their work, too. The way in which the interview is ended also has an effect on the candidates
and may well effect whether the desired candidate decides whether to accept the offer of
employment or reject it.

According to the passage, which of the following DOES NOT help in reducing stress during an
interview ?

(1) The behaviour of the interviewer

(2) Timing of the interview

(3) The ability of the interviewer to intimidate the candidate

(4) The ability of the interviewer to convey information to the candidate

Options :

212807112025. 1
212807112026. 2
212807112027. 3
212807112028. 4
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Read the following passage and answer the question that follows :

Conducting an interview should be like painting by numbers if you are properly prepared.
Consider the various aspects of the interview that benefit from early preparation. Some of these
may seem obvious, but if left until the candidates are at the door, they can have a negative effect on
the process. A checklist will help to make sure everything is planned and some of the less obvious
considerations remembered.

Frequently overlooked is the choice of venue and its layout; this can affect the atmosphere of
the interview and how candidates respond. The room can feel forbidding, formal, relaxed or cosy,
depending on how the furniture is arranged and how the interviewers behave towards the
candidates.

Interviewing can be stressful for candidates and interviewers alike, so take account of this in
the timing of the interviews and briefing of the interviewers. Stress levels also influence how
interviewers behave towards the candidates; developing skills in how to question and supply
information to candidates will smooth the flow and help interviewers improve their performance.
Of course, question technique, active listening and observation skills benefit managers in other
areas of their work, too. The way in which the interview is ended also has an effect on the candidates
and may well effect whether the desired candidate decides whether to accept the offer of
employment or reject it.

Choose a word from the passage that is closest in meaning to the following word “Unwelcome”
(1) formal

(2) frequently

(3) forbidding

(4) venue

Options :

212807112029. 1
212807112030. 2
212807112031. 3
212807112032. 4
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Read the following passage and answer the question that follows :

Conducting an interview should be like painting by numbers if you are properly prepared.
Consider the various aspects of the interview that benefit from early preparation. Some of these
may seem obvious, but if left until the candidates are at the door, they can have a negative effect on
the process. A checklist will help to make sure everything is planned and some of the less obvious
considerations remembered.

Frequently overlooked is the choice of venue and its layout; this can affect the atmosphere of
the interview and how candidates respond. The room can feel forbidding, formal, relaxed or cosy,
depending on how the furniture is arranged and how the interviewers behave towards the
candidates.

Interviewing can be stressful for candidates and interviewers alike, so take account of this in
the timing of the interviews and briefing of the interviewers. Stress levels also influence how
interviewers behave towards the candidates; developing skills in how to question and supply
information to candidates will smooth the flow and help interviewers improve their performance.
Of course, question technique, active listening and observation skills benefit managers in other
areas of their work, too. The way in which the interview is ended also has an effect on the candidates
and may well effect whether the desired candidate decides whether to accept the offer of
employment or reject it.

According to the passage which of the following details is often overlooked while conducting
interview ?

(1) Age of the candidate

(2) Candidate’s attire

(3) Choice of venue

(4) Dietary preference of the candidate

Options :

212807112033. 1
212807112034. 2
212807112035. 3
212807112036. 4
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Read the following passage and answer the question that follows :

Conducting an interview should be like painting by numbers if you are properly prepared.
Consider the various aspects of the interview that benefit from early preparation. Some of these
may seem obvious, but if left until the candidates are at the door, they can have a negative effect on
the process. A checklist will help to make sure everything is planned and some of the less obvious
considerations remembered.

Frequently overlooked is the choice of venue and its layout; this can affect the atmosphere of
the interview and how candidates respond. The room can feel forbidding, formal, relaxed or cosy,
depending on how the furniture is arranged and how the interviewers behave towards the
candidates.

Interviewing can be stressful for candidates and interviewers alike, so take account of this in
the timing of the interviews and briefing of the interviewers. Stress levels also influence how
interviewers behave towards the candidates; developing skills in how to question and supply
information to candidates will smooth the flow and help interviewers improve their performance.
Of course, question technique, active listening and observation skills benefit managers in other
areas of their work, too. The way in which the interview is ended also has an effect on the candidates
and may well effect whether the desired candidate decides whether to accept the offer of
employment or reject it.

Which of the following could be a suitable title for the passage ?
(1) How to conduct an Interview

(2) How to give an Interview

(3) An Introduction to Interviews

(4) How to get a Job

Options :

212807112037. 1
212807112038.2
212807112039. 3
212807112040. 4
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Read the following passage and answer the question that follows :

Learning the Queen’s English is like scrubbing off the bright red varnish from your toe nails,
the morning after a dance. It takes a long time and there is always a little bit left at the end, a stain
of red along the growing edges to remind you of the good time you had. So, you can see that
learning came slowly to me. On the other hand, I had plenty of time. I learned your language in an
immigration detention centre, in Essex, in the southeastern part of the United Kingdom. Two
years, they locked me in there. Time was all I had.

But why did I go to all the trouble ? It is because of what some of the older girls explained to
me: to survive, you must look good or talk even better. The plain ones and the silent ones, it seems
their paperwork in never in order. You say, they get repatriated. We say, sent home early.

The Other Hand is the story of a young woman who flees conflict in her home village in the
oil-rich region of southern Nigeria. She makes her way to the UK as an illegal immigrant and is
detained for a long period of time at an immigrant detention centre near London. When she finally
gets out, she seeks out the only two people she knows in England, whom she met on a Nigerian
beach during a life-changing event a few years before. Will she be able to find them, and if so will
they help her ? And if not, will she survive in her newly adopted country as an immigrant ?

What is meant by ‘Queen’s English” in the text given :

(A) Good, formal English

(B) Fluent, vernacular English

(C) English as spoken in the UK

(D) Good formal American English

Choose the correct answer from the options given below :

(1) (A), (B )al’ld( ) only

(2)  (A). (B) and (D) only
(3) (A)an ( ) only
(4) (A)and (C) only

Options :

212807112041. 1
212807112042.2
212807112043. 3
212807112044. 4
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Read the following passage and answer the question that follows :

Learning the Queen’s English is like scrubbing off the bright red varnish from your toe nails,
the morning after a dance. It takes a long time and there is always a little bit left at the end, a stain
of red along the growing edges to remind you of the good time you had. So, you can see that
learning came slowly to me. On the other hand, I had plenty of time. I learned your language in an
immigration detention centre, in Essex, in the southeastern part of the United Kingdom. Two
years, they locked me in there. Time was all I had.

But why did I go to all the trouble ? It is because of what some of the older girls explained to
me: to survive, you must look good or talk even better. The plain ones and the silent ones, it seems
their paperwork in never in order. You say, they get repatriated. We say, sent home early.

The Other Hand is the story of a young woman who flees conflict in her home village in the
oil-rich region of southern Nigeria. She makes her way to the UK as an illegal immigrant and is
detained for a long period of time at an immigrant detention centre near London. When she finally
gets out, she seeks out the only two people she knows in England, whom she met on a Nigerian
beach during a life-changing event a few years before. Will she be able to find them, and if so will
they help her ? And if not, will she survive in her newly adopted country as an immigrant ?

‘The Other Hand’ is the story of Nigerian woman who :

A) lived in a village in Southern Nigeria

C) learnt English While in detention

(

(B) was detained in Southern Nigeria

(

(D) was an illegal immigrant in the UK

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

(2) (A), (C) and (D) only

(3) (B) and (C) only

(4)  (A), (B) and (D) only

Options :

212807112045. 1
212807112046. 2
212807112047. 3
212807112048. 4
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Read the following passage and answer the question that follows :

Learning the Queen’s English is like scrubbing off the bright red varnish from your toe nails,
the morning after a dance. It takes a long time and there is always a little bit left at the end, a stain
of red along the growing edges to remind you of the good time you had. So, you can see that
learning came slowly to me. On the other hand, I had plenty of time. [ learned your language in an
immigration detention centre, in Essex, in the southeastern part of the United Kingdom. Two
years, they locked me in there. Time was all I had.

But why did I go to all the trouble ? It is because of what some of the older girls explained to
me: to survive, you must look good or talk even better. The plain ones and the silent ones, it seems
their paperwork in never in order. You say, they get repatriated. We say, sent home early.

The Other Hand is the story of a young woman who flees conflict in her home village in the
oil-rich region of southern Nigeria. She makes her way to the UK as an illegal immigrant and is
detained for a long period of time at an immigrant detention centre near London. When she finally
gets out, she seeks out the only two people she knows in England, whom she met on a Nigerian
beach during a life-changing event a few years before. Will she be able to find them, and if so will
they help her ? And if not, will she survive in her newly adopted country as an immigrant ?

Match List - I with List - I1.
List - 1 List - II

A) oil rich region ) tosurvive in the UK
I

C) speaking good English IIT) Southeastern part of the UK

( (
(B) immigration detention centre (II)  Southern Nigeria
( (
(D) inability to speak good English ~ (IV) to get repatriated

Choose the correct answer from the options given below :
(1) (A)-1D), (B)-I), (©)-(1V), (D)-[0)
(2)  (A)-D, B)-O), (O-1V), (D))
(3)  (A)-(), (B)-(I), (O-(IID), (D)-(IV)
(4)  (A)-1D), (B)-(), (©)-(1), (D)-(IV)
s 12085, 1
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Read the following passage and answer the question that follows :

Learning the Queen’s English is like scrubbing off the bright red varnish from your toe nails,
the morning after a dance. It takes a long time and there is always a little bit left at the end, a stain
of red along the growing edges to remind you of the good time you had. So, you can see that
learning came slowly to me. On the other hand, I had plenty of time. Ilearned your language in an
immigration detention centre, in Essex, in the southeastern part of the United Kingdom. Two
years, they locked me in there. Time was all I had.

But why did I go to all the trouble ? It is because of what some of the older girls explained to
me: to survive, you must look good or talk even better. The plain ones and the silent ones, it seems
their paperwork in never in order. You say, they get repatriated. We say, sent home early.

The Other Hand is the story of a young woman who flees conflict in her home village in the
oil-rich region of southern Nigeria. She makes her way to the UK as an illegal immigrant and is
detained for a long period of time at an immigrant detention centre near London. When she finally
gets out, she seeks out the only two people she knows in England, whom she met on a Nigerian
beach during a life-changing event a few years before. Will she be able to find them, and if so will
they help her ? And if not, will she survive in her newly adopted country as an immigrant ?

Learning Queen’s English is described using a metaphor which is :
(1) to learn to survive
(2) a stain of red along the greasing edges
(3) scrubbing off the bright red varnish from your toenails
(4) learning comes slowly
Options :
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212807112055. 3
212807112056. 4
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Read the following passage and answer the question that follows :

Learning the Queen’s English is like scrubbing off the bright red varnish from your toe nails,
the morning after a dance. It takes a long time and there is always a little bit left at the end, a stain
of red along the growing edges to remind you of the good time you had. So, you can see that
learning came slowly to me. On the other hand, I had plenty of time. [ learned your language in an
immigration detention centre, in Essex, in the southeastern part of the United Kingdom. Two
years, they locked me in there. Time was all I had.

But why did I go to all the trouble ? It is because of what some of the older girls explained to
me: to survive, you must look good or talk even better. The plain ones and the silent ones, it seems
their paperwork in never in order. You say, they get repatriated. We say, sent home early.

The Other Hand is the story of a young woman who flees conflict in her home village in the
oil-rich region of southern Nigeria. She makes her way to the UK as an illegal immigrant and is
detained for a long period of time at an immigrant detention centre near London. When she finally
gets out, she seeks out the only two people she knows in England, whom she met on a Nigerian
beach during a life-changing event a few years before. Will she be able to find them, and if so will
they help her ? And if not, will she survive in her newly adopted country as an immigrant ?

What does the author suggest, would have happened if she hadn’t learnt the Queen’s English ?
(1) She would have survived in England.

(2) She would have been repatriated.

(3) She would have stayed longer is detention.

(4) She couldn’t have gone back home easily.

Options :
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212807112060. 4
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Is Section Default? : null

Question Number : 16 Question Id : 21280728016 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Change the given sentence of active voice into passive voice. Select the appropriate option.
The Prime-minister was giving the speech.

(1) The speech was given by the Prime-minister.

(2) The speech was being given the Prime-minister.

(3) The speech was been given by the Prime-minister.

(4) The speech had been given by the Prime-minister.

Options :

212807112061. 1
212807112062. 2
212807112063. 3
212807112064. 4



Question Number : 17 Question Id : 21280728017 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Choose the correct question tag ?
(1) He said that, didn’t he ?

(2) He said that, did he ?

(3) She didn't do that, didn"t she ?
(4) They will come, will they ?

Options :

212807112065. 1
212807112066. 2
212807112067. 3
212807112068. 4

Question Number : 18 Question Id : 21280728018 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Choose the part of the following sentence that contains an error :

Ranjeeta does not usually prefer staying at cottages, but last winter she spent few days in one.
(1) Ranjeeta does not usually

(2) prefer staying at cottages

(3) But last winters

(4) She spent few days into one

Options :

212807112069. 1
212807112070. 2
212807112071. 3
212807112072. 4

Question Number : 19 Question Id : 21280728019 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Choose the part of the following sentence that contains an error :

The most important feature of our products are that they are all created by hand.
(1) The most important feature

(2) of our products are that

(3) they are all

(4) created by hand

Options :

212807112073. 1
212807112074. 2
212807112075. 3
212807112076. 4



Question Number : 20 Question Id : 21280728020 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Rearrange the jumbled phrases to form a meaningful sentence :
(A) devastated the city

(B) and flooded many homes

(C) when the tornado

(D) it was a beautiful day

Choose the correct answer from the options given below :

1) (©). (B). (A). (D)

2) D)
3 DO (©,
4
Options :
212807112077. 1
212807112078 2

212807112079. 3
212807112080. 4

Question Number : 21 Question Id : 21280728021 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Rearrange the following parts of a sentence to make a meaningful sentence :
(A) can lead to

(B) a moment of fun

(C) life long scar

(D) and merriment

(E) and repentance

Choose the correct answer from the options given below :

(1) (B). (D). E). (A), (©)

(2)  (B) (A) (©), (D), (E)
(3)  (©) (&), (B), (D), (E)
4)  (B) (D), (A), ©) (E)
Options :

212807112081. 1

212807112082. 2

212807112083. 3
212807112084. 4

Question Number : 22 Question Id : 21280728022 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

|Key Value




[Comprehension IMCQ

From the given options, select the one which is opposite in meaning to the given word :
empathy

(1) original
(2) insensitivity
(3) kindness

(4) stubbornness

Options :

212807112085. 1
212807112086. 2
212807112087. 3
212807112088. 4

Question Number : 23 Question Id : 21280728023 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Choose the appropriate word to fill in the blank :

It was a challenge to a response from the prisoner.
(1)  illicit
(2) licit
(3) elicit
(4) ellicit
Options :

212807112089. 1
212807112090. 2
212807112091. 3
212807112092. 4

Question Number : 24 Question Id : 21280728024 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

From the options given below, select the one closest in meaning to “Agile’ :
(1) Needle

(2) Nimble

(3) Name sake

(4) Weak
Options :

212807112093. 1
212807112094. 2
212807112095. 3
212807112096. 4

Question Number : 25 Question Id : 21280728025 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Pick a word that means the same as ‘readable’ :
(1) Legible

(2) Washable

(3) Praise worthy

(4) Edible

Options :

212807112097. 1
212807112098. 2
212807112099. 3
212807112100. 4

Question Number : 26 Question Id : 21280728026 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Fill in the blanks with appropriate Articles :

You are gem of person.
(1) an, the

(2) a, the

(3) a a

(4) the, the
Options :

212807112101. 1
212807112102. 2
212807112103. 3
212807112104. 4

Question Number : 27 Question Id : 21280728027 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following sentences uses an Article INCORRECTLY ?
(1) They cannot be trusted even a bit.

(2) What is a time of your arrival ?

(3) He is a strange person.

(4) There are no friends in the room.

Options :

212807112105. 1
212807112106.2
212807112107.3
212807112108. 4

Question Number : 28 Question Id : 21280728028 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match List - I with List - IL

List - 1 List - II

(A) Cortege (I)  apoem of lamentation on the death of someone loved and
admired.

(B) Elegy (I) A funeral procession comprising a number of mourning,.

(C) Obituary (IIT) an account in the newspaper about the funeral of a
deceased.

(D) Epitaph (IV) words inscribed on the grave/tomb in the memory of the
one buried.

Choose the correct answer from the options given below :
(1)  (A)-1D), (B)-(1), (O-(1), (D)-(IV)

(2)  (A)-(D), (B)-(IT), (O)-(I1), (D)-(IV)

(3)  (A)-IV), (B)-(I1I), (C)-(1), (D)-I)

4) (A1), (B)-(1D), (O)-(D), (D)-(IV)

Options :

212807112109. 1

212807112110. 2

212807112111. 3
212807112112. 4

Question Number : 29 Question Id : 21280728029 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Choose the word that denotes one that is in a war - like mood :
(1) Veteran

(2) Virtuoso

(3) Belligerent

(4) Bohemian

Options :

212807112113. 1
212807112114.2
212807112115.3
212807112116. 4

Question Number : 30 Question Id : 21280728030 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Choose the sentence that has the correct preposition in it :
(1) They will return with fifteen minutes.

(2) The students came onto the classroom.

(3) Susheel works on the office every weekend.

(4) Radha will not be able to reach within half an hour.

Options :
212807112117. 1



212807112118.2
212807112119. 3
212807112120. 4

Question Number : 31 Question Id : 21280728031 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Choose the sentence that has the incorrect preposition in it :
(1) The train is running off time.

(2) It has been five years since I have seen my mother.

(3) Sheela left for the station an hour ago.

(4) Vineet studied till Tam for his upcoming exam.

Options :

212807112121. 1
212807112122.2
212807112123.3
212807112124. 4

Question Number : 32 Question Id : 21280728032 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Choose the appropriate option to fill in the blank in the given sentence :
you please show me the way to station ?

(A) could
(B) will
(C) should
(D) can

Choose the correct answer from the options given below :
(1) (A) and (D) Only

(2)  (B) Only

(3) (©) Only

(4) (A) Only
Options :

212807112125. 1
212807112126.2
212807112127.3
212807112128. 4

Question Number : 33 Question Id : 21280728033 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match List - I with List - IL

List - 1 List - II
(A) Ad interim ()  Meanwhile
(B) Carte blanche (II)  According to law
(C) De jure (III) Mixture
(D) Pot Pourri (IV) Full freedom of action

Choose the correct answer from the options given below :
(1) (A)-IV), (B)-(I1), (C)-(ID), (D)-I)

(2) (A0, (B)-(1D), (O-1), (D)-(IV)

(3)  (A)-IV), (B)-(1), (O-(D), (D)-@)

4) (A0, (B)-(IV), (O)-(II), (D))

S

212807112130. 2

212807112131. 3
212807112132. 4

Question Number : 34 Question Id : 21280728034 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Identify the correct ones :

(A) go-went-gone

(B) bring-brought-brought

(C) mistake-mistook-mistook

(D) steal-stole-stole

(E) take-taken-taken

Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

(2) (A), (B), (D) Ofﬂ}’
(3) (A), (B) Onl

(4) (A), (B), (C ) (D) Only
Options :

212807112133. 1
212807112134.2
212807112135.3
212807112136. 4

Question Number : 35 Question Id : 21280728035 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Which of the following can be called Gerund :

(A) Stop playing.

(B) Ilove to go hunting.

(C) Kids are sleeping.

(D) Seeing is believing.

(E) They are smoking outside.

Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

(2) (&), (B), (D) Only
(3 (B), (C), (D) Only

4)  (A), (B), (Q) (D) Only
Options :

212807112137. 1

212807112138. 2

212807112139.3
212807112140. 4

Question Number : 36 Question Id : 21280728036 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Choose the part of the following sentence that contains an error :

If a company sends its employees abroad to work for a foreign client, they pays them a daily
allowance.

(1) If a company

(2) Sends its employees abroad

(3) To work for a foreign client, they

(4) Pays them a daily allowance

Options :

212807112141. 1
212807112142.2
212807112143.3
212807112144. 4

Question Number : 37 Question Id : 21280728037 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Choose the part of the following sentence that contains an error :
It is the quarter to ten by my watch.

(1) Itis the

(2) quarter to ten

(3) by my watch

(4) No error

Options :



212807112145. 1
212807112146.2
212807112147.3
212807112148. 4

Question Number : 38 Question Id : 21280728038 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

On the passing of his grandfather, I sent him a bouquet of flowers and a condolence
card.

(1) Over

(2) Into

(3) By

(4) Away

Options :
212807112149. 1
212807112150. 2

212807112151. 3
212807112152. 4

Question Number : 39 Question Id : 21280728039 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Take your gloves before shaking someone’s hand.
(1) On
(2) In
(3) Off
(4) With
Options :

212807112153. 1
212807112154.2
212807112155.3
212807112156. 4

Question Number : 40 Question Id : 21280728040 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Choose the correct homonym pair :
(1) Career-Carrier

(2) Birth-Berth

(3) Confident-Confidant

(4) Eligible-lllegible

Options :
212807112157. 1



212807112158.2
212807112159.3
212807112160. 4

Question Number : 41 Question Id : 21280728041 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Rearrange the following segments to make a meaningful sentence :
(A) at the progress India has made in the field of nuclear research
(B) the prime minister looked back with satisfaction

(C) will have to accept India as a nuclear power

(D) and asserted that sooner or later the big powers

Choose the correct answer from the options given below :

(1) (B), (A), (D), (©

(2) (B) (D), (A), (C
(3) (B), (O, D), (
(4) (A) (B), (D), (C
Options :

212807112161. 1

212807112162. 2

212807112163.3
212807112164. 4

£y

Question Number : 42 Question Id : 21280728042 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

From the given options, select the word that is opposite in meaning to “Excruciating’ :
(1) Sophisticated
(2) Modern
(3) Noisy
(4) Mild
Options :
212807112165. 1
212807112166. 2

212807112167. 3
212807112168. 4

Question Number : 43 Question Id : 21280728043 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




From the given options, select the word that means the opposite of ‘dexterous” ?
(1) Simple

(2) Distant

(3) Clumsy

(4) Distant
Options :

212807112169. 1
212807112170.2
212807112171. 3
212807112172. 4

Question Number : 44 Question Id : 21280728044 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Out of given options choose a word that can be used as an adjective as well as an adverb.
(1) good

(2) well

(3) hand

(4) hardly
Options :

212807112173. 1
212807112174.2
212807112175.3
212807112176. 4

Question Number : 45 Question Id : 21280728045 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Mark the sentences which have ‘adverbs” ?

(A) The machine works very well.

(B) She is a skilful worker.

(C) He seldom visits his parents.

(D) He speaks really well.

Choose the correct answer from the options given below :
1) (B), (©), (D) Only

(2) (A), (D), (D) Only

(3) (©), (D) Only

(4) (A) (D) Only

Options :

212807112177. 1
212807112178. 2
212807112179. 3
212807112180. 4



Question Number : 46 Question Id : 21280728046 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Choose the correct question tag for the following sentence :
You are a real piece of work, ?

(1) aren’tyou ?

(2) isn’tyou?

(3) weren't you ?

(4) are you?

Options :

212807112181. 1
212807112182.2
212807112183. 3
212807112184. 4

Question Number : 47 Question Id : 21280728047 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Choose the incorrect homonym pair :
(1) Bale-Bail

(2) Caste-Cast

(3) Access-Excess

(4) Ail-Ale

Options :

212807112185. 1
212807112186. 2
212807112187.3
212807112188. 4

Question Number : 48 Question Id : 21280728048 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match List - I with List - IL

List - 1 List - II
(A) apple of one’s eye ()  all of a sudden
(B) to be all ears (I) notable to hear well
(C) out of the blue (III) loved clearly
(D) hard of hearing (IV) to be very attentive

Choose the correct answer from the options given below :

(1) (A)-ID, (B)-(11), (©)-(), (D)-IV)
(2)  (A)-D), (B)-(II), (O)-(I), (D)-(IV)
(3)  (A)-(1V), (B)-(I1D), (O)-), (D)-(II)
(4) (A)-(D), (B)-(II), (O)-(IV), (D)-(I)
Options :

212807112189. 1
212807112190. 2
212807112191. 3
212807112192. 4

Question Number : 49 Question Id : 21280728049 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

From the given options, choose the one that rightly explains the following idiom :
to call a spade a spade

(A) to speak rudely

(B) tospeak directly

(C) to speak diplomatically

(D) to speak frankly

Choose the correct answer from the options given below :

(1)  (B) Only

(2) (B) and (D) Only
(3) (B), (C), (D) Only
(4)  (A), B), (©) Only
Options :

212807112193. 1
212807112194.2
212807112195.3
212807112196. 4

Question Number : 50 Question Id : 21280728050 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Identify the sentences that have “adjectival phrases” :

(A) She dance skilfully.

(B) She is a skilful dancer.

(C) That was a thoughtful act.

(D) He acted thoughtfully.

Choose the correct answer from the options given below :
(1) (B), (C) Only

(2)  (A), (B), (C) Only

(3) (B), (©), (D) Only

(4)  (A) (D) Only

Options :

212807112197. 1
212807112198. 2
212807112199. 3
212807112200. 4
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Question Number : 51 Question Id : 21280728111 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Who defined intelligence as “the global and aggregate capacity of an individual to think rationally,
act purposefully, and to deal effectively with his/her environment” ?
(1) Thurstone
(2) Wechsler
(3) Spearman
(4) Binet
Options :
212807112441, 1
212807112442. 2

212807112443. 3
212807112444. 4

Question Number : 51 Question Id : 21280728111 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1) o&A
(2) AR
(3) TEREA
(4) for

Options :

212807112441. 1
212807112442.2
212807112443. 3
212807112444. 4

Question Number : 52 Question Id : 21280728112 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

If a person has the skill of understanding the motives, feelings and behaviour of other people,
he/she is said to have :
(1) Interpersonal intelligence
(2) Intrapersonal intelligence
(3) Linguistic intelligence
(4) Social intelligence
Options :
212807112445, 1
212807112446. 2

212807112447. 3
212807112448. 4

Question Number : 52 Question Id : 21280728112 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1
Question Key Details :



Key Value

Comprehension MCQ
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Options :

212807112445. 1
212807112446. 2
212807112447.3
212807112448. 4

Question Number : 53 Question Id : 21280728113 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Who amongst the following attempted to standardize Binet’s test in Urdu and Punjabi ?
(1) Pramila Pathak
(2) Prayag Mehta
(3) M.C. Joshi
(4) C.H. Rice
Options :
212807112449. 1
212807112450. 2

212807112451. 3
212807112452. 4

Question Number : 53 Question Id : 21280728113 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T | | TopeA foe o 91 bl 35 SIR Uil H HMHehihd &L 1 YA fwar 2
(1) e I
(2) TRHEA

(3) TH. gl S
(4) . wwEy
Options :

212807112449. 1
212807112450. 2
212807112451. 3
212807112452. 4

Question Number : 54 Question Id : 21280728114 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value
Comprehension MCQ

Arthur Jensen proposed a hierarchical model of intelligence consisting of abilities operating at
two levels. These levels are :

(1) Associative learning, cognitive competence

(2) General factor, specific factor,

(3) Verbal learning, Cognitive Learning

(4) Operation, contents

Options :

212807112453. 1
212807112454.2
212807112455.3
212807112456. 4

Question Number : 54 Question Id : 21280728114 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

ST SIE §RI Wk §f§ 31 ShARTA WY, Sl &1 WA g Haer i &masll § 518, 4 8 'l 2
(1) wE=d AT, HFEHS SH

(2) G T, forery gl

(3) wifeger AfATH, HAMHS Afer™H

(4) weeH, favrgesg

Options :

2128071124531
212807112454.2
212807112455. 3
212807112456. 4

Question Number : 55 Question Id : 21280728115 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




Characteristics of gifted children are :

(A) Independent and non-conformist

(B) Remarkable ability in a specific field

(C) High speed in processing information

(D) Typically slower than their peers

(E) High level of intrinsic motivation and self esteem
Choose the correct answer from the options given below :
(1) (A), (B), (C) only

(2)  (A) (B), (D) only

(®) (&) (O, (D) only

(4) (A (©), (E) only

Options :

212807112457. 1
212807112458.2
212807112459. 3
212807112460. 4

Question Number : 55 Question Id : 21280728115 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
gfemmTTel =t s fodvan 2

(A) A AR ATHERTE

(B) fafers &= H favm drgal

(C) HAISAl okl a1 HEHH

(D) 319 Fiferdi =it geran § o

(E) eT=aftes STRTIROT TR 31ed I 1 39 TR
== feu U faskredi § 9 W& ST 1 99 HiwIg
(1) 9 (A), (B), (O)

(2) HaA (A), (B), (D)
(3) = (A), (O), (D)
(4) had (A), (), (B)
Options :

212807112457. 1
212807112458.2
212807112459. 3
212807112460. 4

Question Number : 56 Question Id : 21280728116 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match List - I with List - IL

List - I List - II
(A) Charles Spearman  (I) Hierarchical model of Intelligence
(B) Alfred Binet (II)  Theory of Multiple Intelligence
(C) Arthur Jensen (II) Two factor theory

(D) Howard Gardner (IV) Uni factor theory
Choose the correct answer from the options given below :

(1) (A)-1V), (B)-(I), (O)-1), (D)-(II)
(2) (A)-(LD), (B)-(1V), (O)-(I), (D)-(1I)
(3)  (A)-(ID), (B)-(IV), (O)-I), (D)-()
(4) (A)-(IV), (B)-(II), (O)-(D), (D)-(I)
Options :

212807112461. 1
212807112462.2
212807112463.3
212807112464. 4

Question Number : 56 Question Id : 21280728116 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Wedl-1 & Feit-11 &1 e shifa
el TeA-11

(A) =T T () dfe 1 FHFE T=Y
(B) 3&he fad (1) d9fs 1 agHh ST
(C) emeR SFEA (i fg =R e

(D) BEE M (IV) TF *rs fHgr=

= feu mu fawreyl O § W@ S &1 999 Sif9u
(1) (A)-IV), (B)-(1I), (O)-1), (D)-(IT)
)-

(2)  (A)-(1D), (B)-(IV), (O)-1), (D)-(1)
(3)  (A)-(0), (B)-(IV), (O)-(IT), (D)-(I)
(4)  (A)-(1V), (B)-(TI), (C)-(IT), (D)-(I)
Options :

212807112461. 1
212807112462.2
212807112463. 3
212807112464. 4

Question Number : 57 Question Id : 21280728117 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Read and arrange the given points as per American Association on Mental Deficiency (AAMD's)
views on intellectual disability.

(A) Deficits in a person’s capacity to be independent and deal effectively with the environment.
(B) The deficits must be observed during developmental period (0-18)yrs
(C) The definition points to three basic features

(D) A person must show significantly sub-average intellectual functioning
Choose the correct answer from the options given below :

M (©. (B), (A), (D)

(2) (©), D) (A), (B)
(3)  (©) (&), (D), (B)
(4) (©), (B), (D), (A)
Options :

212807112465. 1
212807112466. 2
212807112467.3
212807112468. 4

Question Number : 57 Question Id : 21280728117 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

feir m forgel &1 ‘ sftera wafquee one Hew fefrfomi’ (AAMD) & sifges fasrerimal & o)
feraml =1 ufqy 3iR sFaferg $ifaw)

(A) STATER & Y T oI quret @0 § frued & safad it ervan §

(B) foemmrea® srafy (0-18 &) o S sTrwweRTar @1 FrdeTor ST

(C) wfemsn =t 9 gt fagivand &

(D) =afea &1 Sifge TewmicTahd I SR & 7918 %9 2

= fou o fawredi ¥ 9 9E ST 1 994 FiIf9T ;

1) (©, B), (A). (D)

(2)  (©). (D), (A), (B)
3 (©, (A) (D), (B)
() (O, (B), (D), (A)
Options :

212807112465. 1
212807112466. 2
212807112467. 3
212807112468. 4

Question Number : 58 Question Id : 21280728118 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




Amongst the following, which is not indicative of a healthy personality according to humanistic
theorists.

(A) Healthy person has a quest to know oneself deeply.
(B) Healthy persons accept their true feelings, thoughts and behaviour without disguise

(C) Healthy personality usually is rooted in childhood experiences and are not trapped in “here
and now”

(D) Healthy personality usually dwell in the future through anxious expectations and distorted
defences

Choose the correct answer from the options given below :
(1) (B) and (D) Only

(2) (D) and (A) Only
(3) (A)and (B) Only
(4) (C) and (D) Only
Options :

212807112469. 1
212807112470. 2
212807112471.3
212807112472. 4

Question Number : 58 Question Id : 21280728118 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

aeaEs! fagrate & R, f= 8 § 5 w1 @ afaa o) gifyg T8 s g2

(A) T A 19 I TR § S w1 e T # )

(B) Toey =Afad et wad srarieti, fomm ot syewr &t form gud & e #ia €1

(C) T® Afokid, HFER 99 o AWEl § I3 B 8 oI Ia9H d 781 wd & 9o o forslt oo § 2
HHd T

(D) % A ST gfeiarsieh sTiansl oiR g Tan % meqm § wfaed =i ot T e 89 1

e fau 7Tu fosredi § ¥ W&t 3R 1 =97 HiST

(1) %= (B) 3R (D)

(2) hEE (D) 3R (A)
(3) e (A) 3R (B)
(4) Fad (C) 3R (D)
Options :

212807112469. 1
212807112470. 2
212807112471. 3
212807112472. 4

Question Number : 59 Question Id : 21280728119 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - IL
List - 1 List - II
Types of Personality Characteristics
(A) Type A (I)  Relaxed
(B) TypeD (I) Proneness to cancer
(C) TypeB (II) Proneness to Depression
(D) TypeC (IV) Hypertension

Choose the correct answer from the options given below :

(M) (A)-D), (B)-(I), (O~IV), (D)-)

(2)  (A)-(IV), (B)-(II), (O)-(T), (D)-(IT)
(3)  (A)-(IV), (B)-(ID), (C)-(IIT), (D)-(D)
(4)  (A)-(1), (B)-(I), (O)-(1), (D)-(IV)
Options :

212807112473. 1
212807112474.2
212807112475.3
212807112476. 4

Question Number : 59 Question Id : 21280728119 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Tedl-1 § Feit-11 &1 e shifs
Teit-1 TEAl-11

SAfer T YehTT fargrommd
(A) <EBT A @ ffEq
(B) <®BY D 1) FW F i G
(C) ZEUB (IIT) S7eTE 6 Hfd Jeom
(D) 2BUC (IV) =

= fou o fasredi § 9 OE ST F 999 Fife

(1) (A)-(0), (B)-(I1), (O)-IV), (D)~(I1I)
(2)  (A)-(V), (B)-(), (O)-1), (D)-(I)
(3)  (A)-IV), (B)-(I1), (©)-(1I), (D)-(I)
4)  (A)-11D, (B)-(D), (O-(), (D)-(IV)
Options :

212807112473. 1

212807112474.2

212807112475. 3
212807112476. 4



Question Number : 60 Question Id : 21280728120 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Arrange the following stages of psychosexual stages of development by Freud in the increasing
order with regard to age of the child.

(A) Anal stage

(B) Oral stage

(C) Phallic stage

(D) Genital stage

(E) Latency stage

Choose the correct answer from the options given below :
(1) (E), D), ©), (B), (A)

2 ) (©) ( )
3)  (B) (A) (©), (E), (D)
(4)  (B) (A) (O ( )
Options :

212807112477. 1

212807112478. 2

212807112479.3
212807112480. 4

Question Number : 60 Question Id : 21280728120 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

RIS i FeifTeh STaemsll & TRl &l 9= & 3T & Hrary § 3T ohe § syafeed wifem
(A) TEE sFerE

(B) Hifigeh afereen
(C) efiTR ataeen
(D) AT ST

(E) mMYHME sAawen
= feu e fowred] O 9 W& ST &1 999 Sif9u ;
(1) (E), (D), (), (B), (A)

(2)  (A), (B). (O, (D), (E)
3)  (B) (A) (©) (E), (D)
(4)  (B), (A), (©) (D), (E)
Options :

212807112477. 1
212807112478.2
212807112479. 3
212807112480. 4



Question Number : 61 Question Id : 21280728121 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

According to Allport, a single trait that dominates an individual’s entire personality is known as

(1) Source trait
(2) Cardinal trait
(3) Central trait
(4) Surface trait

Options :

212807112481. 1
212807112482.2
212807112483. 3
212807112484. 4

Question Number : 61 Question Id : 21280728121 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Aferdre % AR, Tk fadres S ueh safaa % aegel safade 1 genfad e 8, Fean &
(1) Ha foumes
(2) 9@ (FRfeaa) fagmes

(3) H=r favuer
(4) wae favms
Options :

212807112481. 1
212807112482.2
212807112483.3
212807112484. 4

Question Number : 62 Question Id : 21280728122 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

When a person defends against anxiety by adopting behaviour opposite to one’s true feelings it is
known as :

(1) Repression

(2) Denial

(3) Projection

(4) Reaction formation

Options :

212807112485. 1
212807112486. 2
212807112487. 3



212807112488. 4

Question Number : 62 Question Id : 21280728122 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
el Ueh AT gfeear & o= o ford o 31Eedt AR ¥ fawid reer i € 98 S S @
(1) <o
(2) STEETRTHAl
(3) g&I
(4) wfaferar faio
Options :

212807112485. 1
212807112486. 2
212807112487. 3
212807112488. 4

Question Number : 63 Question Id : 21280728123 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Self-Regulation refers to -
(1) Ability to control one’s emotions
(2) Ability to organize and monitor one’s behaviour
(3) Ability to instruct oneself about emotions and behaviour
(4) Ability to reward oneself for good behaviour
Options :
212807112489. 1
212807112490. 2

212807112491. 3
212807112492. 4

Question Number : 63 Question Id : 21280728123 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
a1 T grafed § -

(1) srest & == st Fra

(2) =EER & e siR sHafeed T &t drad
(3) wrEAIst oiR =aer & 9N # fAder &t A
(4) T3 AR % oI qERR & Ao

Options :
212807112489. 1
212807112490. 2



212807112491. 3
212807112492. 4

Question Number : 64 Question Id : 21280728124 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

According to the Triguna theory of personality (Charak Samhita), the
characterizes laziness, anger, arrogance, depression and helplessness :

(1) Sattva
(2) Kapha
(3) Rajas

(4) Tamas

Options :

212807112493. 1
212807112494.2
212807112495. 3
212807112496. 4

Question Number : 64 Question Id : 21280728124 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

=frie & Bru fogia (e digd) & SgEr 71 fafEd G ® SeE, HiY, SFEHR,
AR 3R =R % Y H |

(1) ¥=

(2) =%

(3) T4

(4) 9H9

Options :

212807112493. 1
212807112494.2
212807112495. 3
212807112496. 4

Question Number : 65 Question Id : 21280728125 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Rosenzweig developed a test with the use of cartoon like pictures, a series of situations in which
one person frustrates another or calls attention to frustrating condition.

(1) Draw - a - Person - test

(2) Sentence completion test

(3) The Thematic Apperception test

(4)

4 Picture - Frustration test



Options :

212807112497. 1
212807112498. 2
212807112499. 3
212807112500. 4

Question Number : 65 Question Id : 21280728125 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Usrfert 7 qdieror fasmifaa foFan) 39 ghem § wéa S o) 4 fefel #1 uh oo @d € ool
=ferd GEL T A9 Il & A1 Fawmgul feufd ) @ e feema 7

(1) U sAfad 1 fazmn gderm

(2) ST GHMTA e

(3) HYUMFH HHALU &

(4) Terma e udierm

Options :

212807112497. 1
212807112498. 2
212807112499. 3
212807112500. 4

Question Number : 66 Question Id : 21280728126 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Irrational fear related to specific objects is the characteristic of :
(1) Panic Disorder

(2) Generalised Anxiety Disorder

(3) Specific Phobia

(4) Separation Anxiety Disorder

Options :

212807112501. 1
212807112502. 2
212807112503. 3
212807112504. 4

Question Number : 66 Question Id : 21280728126 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




fasy awgedl & deiy o swifes w9 Fr=fafeg 5 4 feae fagoa & 2

(1) ®eEe fasr

(2) HHFIRT gt famr

(3) fafee guiffa

(4) Toamrs gfv=ar fasr
Options :

212807112501. 1
212807112502. 2
212807112503.3
212807112504. 4

Question Number : 67 Question Id : 21280728127 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Blindness, paralysis, deafness without any biological reason are symptoms of disorder.

(1) Illness anxiety disorder
(2) Dissociative disorder
(3) Dissociative amnesia
(4) Conversion disorder

Options :

212807112505. 1
212807112506. 2
212807112507. 3
212807112508. 4

Question Number : 67 Question Id : 21280728127 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

form ferft Sifaren svmon & sfearo varmem, s € forg faer & a@am € 2
(1) e g fasr

(2) fo=adt faswr

(3) To=sal wfaeiy

(4) uftEd faswr

Options :

212807112505. 1
212807112506. 2
212807112507. 3
212807112508. 4

Question Number : 68 Question Id : 21280728128 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1
Question Key Details :
|Key Value




[Comprehension MCQ |

Rahim constantly keeps worrying about his future all the time, and has apprehensions about his
admission, to any college. Rahim also constantly scans his environment for danger. Which type of
psychological disorders is reflected in Rahim’s case ?
(1) Panic disorder
(2) Specific Rhobia
(3) Agoraphobia
(4) Generalised anxiety disorder
Options :
212807112509. 1
212807112510. 2

212807112511. 3
212807112512. 4

Question Number : 68 Question Id : 21280728128 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

@ ot e1aa wiferss & o § 52 gma fefad e € i foreht i § waret &l det aTeiferd a1 € | i
AR 797 STHUTH e 1 oiohs Fiehall a1 ¢ | WM o "Ael § fohd YR &1 Frifasr weiia g @ 2
(1) ¥eREe fashr

(2) fafome guiifa

(3) Tegfaeifa (wrrrRifsmam)

(4) TG gt fowr

Options :

212807112509. 1
212807112510.2
212807112511.3
212807112512. 4

Question Number : 69 Question Id : 21280728129 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




Match List - I with List - IL
List - 1
Types of Personality

(A) Hostile aggression (D

(B) Verbal aggression (I)
(C) Physical aggression (IIT)
(D) Proactive aggression (IV)

List - II

Characteristics

Dominating and bullying others without provocation
Hitting and or fighting

Name-calling, swearing

Directed at inflicting injury to others

Choose the correct answer from the options given below :

(1) (A1), (B)-(II) (C)-(HI) (D)-(IV)
(2)  (A)-D), (B)-(I1), (O)-(IV), (D)-(1I)
(3)  (A)-(1V), ( )-(ID), (©)- () (D) (1)
(4)  (A)-(1V), (B)-(IM), (©)-I), (D)-(I)
Options :

212807112513. 1
212807112514.2
212807112515.3
212807112516. 4

Question Number : 69 Question Id : 21280728129 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Tedl-1 & Feit-11 &1 e sifa

et TeA-11

Atk & Weh fferaroT
(A) TIAYU SGRMHRAT (1) o SHEE ok gE TR FTEl M1 SN HEET
(B) Vlfszeh SATshTHR (1) T\ 3R TS
(C) TRIRF sTehmehar (1) T &1, e S0
(D) TSl SRRl (IV) S& ! 92 98H & e ¥ YRRId STehrehdl
== fou T fosredi § 9 W&t W 1 997 Hife

(1) (A)-(0), (B)-(IT), (O)-(III), (D)-(IV)

(2)  (A)-(0), (B)-(I0), (O)-(IV), (D)-(1)
(3)  (A)-IV), (B)-(I), (O)-(1), (D)-(I)
4)  (A)-(1V), (B)-(I1D), (O)-(11), (D)-(I)
Options :

212807112513. 1
212807112514.2
212807112515.3
212807112516. 4

Question Number : 70 Question Id : 21280728130 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1
Question Key Details :




Key Value
Comprehension MCQ

State the correct order of Intellectual disability in terms of decreasing intellectual functioning
(I. Q. range) :

(A) Severe

(B) Mild

(C) Profound

(D) Moderate

Choose the correct answer from the options given below :
(1) () (D) (4), (O

2 (&) (B), (©), D)

(3) (D) (A), (©O), (B)

4 (©. (B), D) (A)

Options :

212807112517. 1
212807112518.2
212807112519. 3
212807112520. 4

Question Number : 70 Question Id : 21280728130 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
difge Tl (1. Q. I9) F Hew H difg® 1em9d %1 9 %1 Jq=T ued g %A § <uid
(A) >
(B) Hg

(C) TisfR

(D) ®Ead

A feu Tu fomredi § 9 HE ST T 994 HifST ;
(1) (B), (D), (A), (O

(2) (A), (B), (©), (D)
(3) (D) (A) (C), (B)
4) (O, (B), (D), (A)
Options :

212807112517. 1
212807112518.2
212807112519.3
212807112520. 4

Question Number : 71 Question Id : 21280728131 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




Symptoms of Post-Traumatic Stress Disorder include :

(1) Emotional numbing, happiness, feeling of elation

(2) Flashbacks, feeling of elation, thoughts about ill health
(3) Recurrent dreams, flashbacks, emotional numbing

(4) Thoughts about ill health, happiness, flashbacks

Options :

212807112521. 1
212807112522.2
212807112523.3
212807112524. 4

Question Number : 71 Question Id : 21280728131 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

IR-AfvEras e faswn # freafafed # § #99 aso wirea € 2
(1) HidfTeh =, e, Ieeld i 9reHl

(2) STddTecish IoeE i eI, STEdl & aN § fa=ar

(3) WR-9R TRl TS & M, Addeee, Jiofie =

(4) STEEEr o IR H f99R, 37, sTdiaaeien

Options :

212807112521. 1
212807112522.2
212807112523.3
212807112524. 4

Question Number : 72 Question Id : 21280728132 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

An important characteristic of Bipolar disorder is that it includes :
(1) Only Mania

(2) Only Depression

(3) Both Mania and depression

(4) Neither Mania nor depression

Options :

212807112525 1
212807112526.2
212807112527.3
212807112528. 4

Question Number : 72 Question Id : 21280728132 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Teya fasr o1 Feiferd Heeayl fagma @ -
(1) ad TG

(2) AW HAHE

(3) SR R 3EHRE IH

(4) ¥ IR AR T F EER

Options :

212807112525. 1
212807112526.2
212807112527.3
212807112528. 4

Question Number : 73 Question Id : 21280728133 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of these is a positive symptom of Schizophrenia ?
(1) Alogia

(2) Delusions

(3) Catatonia

(4) Avolition

Options :

212807112529. 1
212807112530.2
212807112531.3
212807112532. 4

Question Number : 73 Question Id : 21280728133 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Trefafaa 5 § ®F @ gfagera (ReFsithfa) #1 Th YhRIHS ago g ?
(1) i
(2)  yHTIfeRt

(3) e
(4) TR ZAAT (TAferR)

Options :

212807112529. 1
212807112530.2
212807112531. 3
212807112532. 4

Question Number : 74 Question Id : 21280728134 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1
Question Key Details :

|Key Value




[Comprehension IMCQ

Having a fear of entering unfamiliar situation is known as :
(1) Social Phobia
(2) Agoraphobia
(3) Claustrophobia
(4) Hydrophobia
Options :
212807112533. 1
212807112534. 2

212807112535.3
212807112536. 4

Question Number : 74 Question Id : 21280728134 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
sufifed o fyew e F I A vfaadn A frm s H S ST @ 2
(1) gHifSes guifa

(2) Tagfadifa (wieifsmn)
(3) Hgfasifa (el & | wA)
(4) STAwlfd

Options :

2128071125331
212807112534.2
212807112535. 3
212807112536. 4

Question Number : 75 Question Id : 21280728135 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Identify the type of catatonia where patients assume awkward bizarre positions for long periods
of time :

(1) Catatonic Stupor
(2) Catatonic Rigidity
(3) Catatonic Posturing
(4) Catatonic Position

Options :

212807112537. 1
212807112538.2
212807112539. 3
212807112540. 4

Question Number : 75 Question Id : 21280728135 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
|Key Value




[Comprehension IMCQ
FERIE % 39 YRR i Ied i foad I fafes seuei qemsii @ | e 99g 9 geivia w3 €
(1) HerifeF Sfem
(2) HeRIHE gEdl
(3) et witfd
(4) hereifen feafd
Options :
212807112537. 1
212807112538.2

212807112539.3
212807112540. 4

Question Number : 76 Question Id : 21280728136 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Anshul, a seven year old child is so fearful and anxious about separating from his mother that he
doesn’t even go out to play. While sleeping he holds his mother’s hand tightly and doesn’t let her
go to the washroom at times. Anshul might be showing symptions of :
(1) Specific phobic
(2) Social anxiety disorder
(3) Separation anxiety disorder
(4) Panic disorder
Options :
212807112541. 1
212807112542.2

212807112543. 3
212807112544. 4

Question Number : 76 Question Id : 21280728136 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

HId T F=1 S AU Hi § SR B4 ok an H a1 wasfia AR fHfad ¢ o 9w amwt gan ot 98 s
I T9F 98 791 91 1 B9 FHR YHSdl ¢ 3R FE aR U Sy off 78 S <o | ofya ° foraen aam
B HFA S ?

(1) fafers gsfffa

(2) ISR gfvgar fasr

(3) fomTst gfv=an fasr

(4) EeRe feehr

Options :

212807112541. 1

212807112542.2

212807112543. 3
212807112544. 4




Question Number : 77 Question Id : 21280728137 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

In ABC analysis used in Rational Emotive therapy as proposed by Albert Ellis, ABC refers to :
(1) antecedent - behaviour - consequence
(2) antecendent - belief - counselling

(3) antecedent - belief - consequence

(4) antecedent - belief - cognitive

Options :

212807112545. 1
212807112546.2
212807112547.3
212807112548. 4

Question Number : 77 Question Id : 21280728137 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Aeee ufer grr wfaaifed Ham o fafeen § ygea ABC faveryw § ABC &1 a4 €
(1) Yeadl - =geER - gfors

(2) gaed - favar - g

(3) gEad - fovam - gftomm

(4) Yol - favary - SIS

Options :

212807112545. 1
212807112546. 2
212807112547. 3
212807112548. 4

Question Number : 78 Question Id : 21280728138 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Two main components of psychotherapy are :
(1) Contractual nature, unlimited duration
(2) No Contract with the therapist, limited duration
(3) Contractual nature, limited duration
(4) No Contract with the therapist, unlimited duration
Options :
212807112549. 1
212807112550. 2

212807112551. 3
212807112552. 4



Question Number : 78 Question Id : 21280728138 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

TR % <1 UgE HeH S § 7

(1) wfaureas gHfa IR swEifa e1afy

2) fafercss & wy #E s1gey =4, difng safy
(3) wHfaureas gepld, Hifqa stafy

(4) fTaferems & @y #E sy 72, srifaa safy

Options :

212807112549. 1
212807112550.2
212807112551. 3
212807112552. 4

Question Number : 79 Question Id : 21280728139 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Identify the statements that are true about Aaron Beck’s cognitive therapy.

(A) His theory states that childhood experience provided by family and society develop core
schemas

(B) It involves ABC analysis

(C) He claimed core schemas give rise to cognitive distortions

(D) [Irrational beliefs are identified as ‘must’, and ‘should’

(E) The illogical patterns are referred as dysfunctional cognitive structures

Choose the correct answer from the options given below :
(1) (B), (C), (E) Only

(2)  (A), (©), (D) Only

(3) (&), (©), (E) Only

(4) (B) (D), (E) Only

Options :

212807112553. 1

212807112554. 2

212807112555.3
212807112556. 4

Question Number : 79 Question Id : 21280728139 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




39 FHHI I UM bl S WA o it HIFHE fafhodt & 9 § 921 |

(A) FHeHT fEgia ST ¢ for TRaR iR JHIs gRI Yo fohT 10 oo & Si e Hel ThinT fashad id &1
(B) ¥9H ABC faveryo wftafed &

(C) 3R e o1 fof get wri SHarrss fagfadi #f 31 wEt 81

(D) eafaaent favaral =1 ‘siftar’ oIk ‘=nfee’ & ®9 H qg=mT S € )

(B) Tdifeher W&l i feharcer SamTedss X=eli % w9 H sfeafaa fean s 7

= fou TTu fosredi § & W&t ST 1 =97 i

(1) = (B), (O), (E)

(2) %@ (A), (O), (D)

(3) wad@ (A), (©)
(4) FE (B), (D), (E)
Options :

212807112553. 1

212807112554.2

212807112555. 3
212807112556. 4

Question Number : 80 Question Id : 21280728140 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Type of yoga therapy that is effective in the treatment of obsessive compulsive disorder, and is a
combination of Pranayama with chanting of mantra, is commonly known as :

(1) Kundalini yoga

(2) Vipasana

(3) Sudarshan Kriya yoga

(4) Ashtanga yoga
Options :
212807112557. 1
212807112558. 2

212807112559.3
212807112560. 4

Question Number : 80 Question Id : 21280728140 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




411 Fafecdr 1 98 TR il Faufed-amemr fasr & TR § g9mE] § iR 98 H3=IR01 & 919 q1omaE 6
HASA g, s8I frg s g S S ® 2

(1) Fusfat dm

(2) feosm
(3) e o I
(4) SN

Options :

212807112557. 1
212807112558. 2
212807112559.3
212807112560. 4

Question Number : 81 Question Id : 21280728141 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Steps involved in the treatment of a psychological disorder in psychoanalytical therapy session
follow :

A) Working through
B) Rapport formation

(
(
(C) Termination
(D) Transference, confrontation
(E) Insight

Choose the correct answer from the options given below :

(1) (B) (D), (A), ©), (E)

(2)  (©), (D), (B), (A), (E)
(3)  (B) (D), (A), (E), (O)
(4) (B, (D), B), (©), (A)
Options :

212807112561. 1
212807112562. 2
212807112563. 3
212807112564. 4

Question Number : 81 Question Id : 21280728141 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




TAaAE faer & 3u=R ¥ gA-favavmeas fafea 93 4 uaH fu o1 g =0 8 SA-sH 9 8 2

(A) HHTHEA HE
(B) HeY SMI
(C) wHmA

(D) ST, gfady
(B) eagfe

g fou Tu fawmedi § 9 WE ST T 994 HifaU

(1) (B) (D). (A), ©, (B)
(2) (O, (D), (B), (A), (E)
(3)  (B) (D), (A), (E), (O)
(4)  (E) (D), B), (©), (A)
Options :

212807112561. 1
212807112562. 2
212807112563. 3
212807112564. 4

Question Number : 82 Question Id : 21280728142 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Little Albert was made to hear a loud noise, the moment he saw a white rat. After certain trials he
started crying at the sight of a white rat. This is a classic example of

(1) Aversive conditioning
(2) Positive reinforcement
(3) Negative re inforcement
(4) Token economy

Options :

212807112565. 1
212807112566. 2
212807112567.3
212807112568. 4

Question Number : 82 Question Id : 21280728142 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




e A T8 € Wik TE1 a1 o1 1 SH U Sl VIR AR S o1 | 9 YA & 918 9ihe 97l 9ud & 98
YN IRI P AL o 58 e 2

(1) ot stger

(2) HENHE gAdad

(3) HIIHF YA

(4) 2R FHIAH

Options :

212807112565. 1

212807112566. 2

212807112567. 3
212807112568. 4

Question Number : 83 Question Id : 21280728143 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The following processes are followed while forming impressions.
(A) The selected information is combined in a systematic manner

(B) The person who forms the impression is the perceiver and individual about whom the
impression is formed is the target

(C) We draw conclusion about what kind of a person the target is

(D) We take into account only some bits of information about the target

Choose the correct answer from the options given below :
(1) (B) (D), (A), (O

2 ®B) (A) (©), D)
(3)  (B) (©), (A) (D)
(4)  (B) (D) (C), (A)

Options :

212807112569. 1
212807112570.2
212807112571. 3
212807112572. 4

Question Number : 83 Question Id : 21280728143 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Bfa s # Freifera wftrand afmfea €1

(A) =afa g i aftem &0 8§ dafed o T

(B) i SAfeRd HE STHTAN € 9% =Y et ¢ o1 o =afaa & o § g S S 8 9% @839 €
(C) &u frswd freprerd € for o = fore v 1 B

(D) &9 =afa & o § %o 1 geet & foeo | w2

e fau Tu foredi § 9§ W&t 3T 1 997 i

(1) (B). (D), (A), (O

(2)  (B) (A), (©), (D)
(3) (B), (O), (A), (D)
(4) (B), (D), (O, (A)
Options :

212807112569. 1
212807112570. 2
212807112571. 3
212807112572. 4

Question Number : 84 Question Id : 21280728144 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Collection of people assembled for a particular purpose, (to watch a movie) may be called :
(1) Team

(2) Crowd

(3) Audience

(4) Mob
Options :

212807112573. 1
212807112574.2
212807112575. 3
212807112576. 4

Question Number : 84 Question Id : 21280728144 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

il 1 gYe S fhen S S8 uw fafie Ryg F fou sz gu € R w9 2
(1) &« =1 2m

(2) offg

(3)

(4) oTAq *fie

Options :

212807112573. 1
212807112574.2



212807112575.3
212807112576. 4

Question Number : 85 Question Id : 21280728145 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Extreme cohesiveness can sometimes lead to disastrous decisions and interfere with effective
leadership. This consequence of extreme cohesiveness is identified as :

(1) Group Polarisation

(2) Obedience

(3) Group Think

(4) Conformity

Options :

212807112577. 1
212807112578.2
212807112579. 3
212807112580. 4

Question Number : 85 Question Id : 21280728145 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

At GOhadl Swofi-wel s ol =1 3R & o1 "ahdl @ iR wuEl A9 | e St 2
i Gaaadr & 39 9o & fea €9 § gee 9 € 2

(1) FHE YereR

(2) AT

(3) Hqg fHaT

(4) STTEA
Options :

212807112577. 1
212807112578. 2
212807112579.3
212807112580. 4

Question Number : 86 Question Id : 21280728146 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In the company of like minded people, when our view is favoured and validated by the public then
it is a sort of effect.

(1) Compliance
(2) Conformity
(3) Obedience

(4) Bandwagon



Options :

212807112581. 1
212807112582. 2
212807112583.3
212807112584. 4

Question Number : 86 Question Id : 21280728146 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T Sl fauml g Al w H@9 § S99 SHar g9R faenl o 9y ot @ o genfug & § 9 98
YRR T YT |

(1) SIgamer

(2) SAgeUd

(3) SATHTEH

(4) dEdm
Options :

212807112581. 1
212807112582.2
212807112583. 3
212807112584. 4

Question Number : 87 Question Id : 21280728147 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The goal of reducing prejudice can be accomplished by :
A) Correcting stereotypes related to specific target group
B) Highlighting group identity

(
(
(C) Tackling problem of a strong in-group bias
(D) Increasing intergroup contact

(E) Not highlighting individual identity

Choose the correct answer from the options given below :
(1) (&) (O, (D) Only

(2)  (B), (D), (E) Only

(3)  (E) (©), (D) Only

(4)  (A) (B), (C) Only

Options :

212807112585. 1
212807112586. 2
212807112587.3
212807112588. 4

Question Number : 87 Question Id : 21280728147 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ

aiUe &1 R F A Freafated fafrd gr ol fem sn gwa @
(A) Tafers @ferd @ | Hafua wfedl &1 ¥8 Fh

(B) HHE UM hl ISR ik

(C) HSTod 3id:HHE Y& i HHEA & el Hlh

(

(

R

D) SiadHE HUh gt
E) oAt 929 &l 78 SSIR ek
= fou o fosredi § 9 W ST &1 =999 il
(1) ad (A), (O), (D)
(2) a (B), (D), (E)
(3) @ (E), (O), (D)
(4) Had (A), (B)
Options :
212807112585. 1
212807112586. 2

212807112587. 3
212807112588. 4

T

Question Number : 88 Question Id : 21280728148 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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The characteristics of noise which does not effect task performance is :
(1) Intensity
(2) Predictability
(3) Controllability
(4) Exposure to Information
Options :
212807112589. 1
212807112590. 2

212807112591. 3
212807112592. 4
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Options :

212807112589. 1
212807112590. 2
212807112591. 3
212807112592. 4
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - IL.
List -1 List - II
(A) Psychological issues pertaining to ()  Environmental design

human environment interaction
(B) Study of relation between living beings (II) Ecology
and environment
(C) All that is around us (I) Environment
(D) Built environment (IV) Environmental Psychology
Choose the correct answer from the options given below :
(1) (A, (B)-(1), (C)-III), (D)-(IV)
(2)  (A)-IV), (B)-(1D), (©)-(II), (D)-[O)
(3) (A, (B)-(IV), (O-(1), (D)-(I)
(4)  (A)-IV), (B)-(I1D), (O)-(II), (D)-I)

Options :

212807112593. 1
212807112594.2
212807112595. 3
212807112596. 4
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(1) (A)-(D), (B)-1), (O-(I), (D)-(IV)

(2)  (A)-(IV), (B)-(IT), (C)-(III), (D)-(T)

(3)  (A)-(ID), (B)-(IV), (©O)-I), (D)-(II)

(4)  (A)-(1V), (B)-(I), (©)-(), (D)-I)

Options :

212807112593. 1

212807112594. 2

212807112595. 3
212807112596. 4
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Key Value
Comprehension MCQ

What is not required for a psychological test ?
(1) It should be reliable
(2) It must be valid
(3) It must be developed by some renowned personality
(4) It must have norms
Options :
212807112597. 1
212807112598. 2

212807112599. 3
212807112600. 4
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212807112597. 1
212807112598.2
212807112599. 3
212807112600. 4

Sub-Section Number : 2
Sub-Section Id : 2128072055
Question Shuffling Allowed : No

Is Section Default? : null
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Comprehension Compl

Read the given case-study carefully and answer the question that follow

According to Lazarus and his colleagues, people have a tendency to appraise any situation
as positive, negative or neutral. When Vikram lost his job as event manager, he perceived the
situation as negative but he didn’t lose heart and decided to start a food joint as he was handling
similar projects in the past. Whereas Vikas who also lost his job as a marketing manager, started
feeling helpless and hopeless and consumed alcohol regularly. He started coming up with excuses
for not doing anything. He could not even think of starting his own venture as he had no money
to invest. He would often become very angry or would start crying bitterly.

According to Cognitive Appraisal Theory of Stress, psychological characteristics that effect stress
appraisal are :

(A) Mental health

(B) Physical health

(C) Temperament

(D) Expected response style

(E) Self concept

Choose the correct answer from the options given below :

(1) (&) (B), (D) Only

(2)  (A) (©), (E) Only
(3)  (B), (C), (E) Only
(4) (B), (D), (E) Only
Options :

212807112601. 1
212807112602. 2
212807112603. 3
212807112604. 4
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212807112601. 1
212807112602. 2
212807112603. 3
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Read the given case-study carefully and answer the question that follow

According to Lazarus and his colleagues, people have a tendency to appraise any situation
as positive, negative or neutral. When Vikram lost his job as event manager, he perceived the
situation as negative but he didn’t lose heart and decided to start a food joint as he was handling
similar projects in the past. Whereas Vikas who also lost his job as a marketing manager, started
feeling helpless and hopeless and consumed alcohol regularly. He started coming up with excuses
for not doing anything. He could not even think of starting his own venture as he had no money
to invest. He would often become very angry or would start crying bitterly.

According to above case study, Vikas's feeling of worthlessness and hopeleness, as a reaction to
stress is in the form of :

(1) Physiological response
(2) Behavioural response
(3) Emotional response
(4) Cognitive response

Options :

212807112605. 1
212807112606. 2
212807112607. 3
212807112608. 4
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Read the given case-study carefully and answer the question that follow

According to Lazarus and his colleagues, people have a tendency to appraise any situation
as positive, negative or neutral. When Vikram lost his job as event manager, he perceived the
situation as negative but he didn’t lose heart and decided to start a food joint as he was handling
similar projects in the past. Whereas Vikas who also lost his job as a marketing manager, started
feeling helpless and hopeless and consumed alcohol regularly. He started coming up with excuses
for not doing anything. He could not even think of starting his own venture as he had no money
to invest. He would often become very angry or would start crying bitterly.

According to cognitive theory of stress, primary appraisal refers to the perception of new
environment as :

(1) Positive, Negative, Neutral

(2) Harm, threat and challenge

(3) Intensity, duration and predictability
(4) Past experience and controllability

Options :

212807112609. 1
212807112610. 2
212807112611. 3
212807112612. 4
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212807112611. 3
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Read the given case-study carefully and answer the question that follow

According to Lazarus and his colleagues, people have a tendency to appraise any situation
as positive, negative or neutral. When Vikram lost his job as event manager, he perceived the
situation as negative but he didn’t lose heart and decided to start a food joint as he was handling
similar projects in the past. Whereas Vikas who also lost his job as a marketing manager, started
feeling helpless and hopeless and consumed alcohol regularly. He started coming up with excuses
for not doing anything. He could not even think of starting his own venture as he had no money
to invest. He would often become very angry or would start crying bitterly.

In the above case study, Vikram was able to take a decision of starting his own venture on the basis

of :
(1) Intensity of problem
(2) Complexity of problem
(3) Past experience
(4) Controllability
Options :
212807112613. 1
212807112614.2

212807112615.3
212807112616. 4
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Read the given case-study carefully and answer the question that follow

According to Lazarus and his colleagues, people have a tendency to appraise any situation
as positive, negative or neutral. When Vikram lost his job as event manager, he perceived the
situation as negative but he didn’t lose heart and decided to start a food joint as he was handling
similar projects in the past. Whereas Vikas who also lost his job as a marketing manager, started
feeling helpless and hopeless and consumed alcohol regularly. He started coming up with excuses
for not doing anything. He could not even think of starting his own venture as he had no money
to invest. He would often become very angry or would start crying bitterly.

Match List - I with List - IL

List - I List - II
( §
(B) Physiological effect of stress (II) Poor concentration, reduced short term memory capacity
(C) Cognitive effect of stress (
(D) Behavioural effect of stress (IV) Increased consumption of alcohol

A) Emotional effect of stress ) Production of adrenaline and cortisol hormones
I
IIT) Mood swings

Choose the correct answer from the options given below :

(1) (A)-A1D), (B)-(1), (-1, (D)-(IV)

(2)  (A)-(IV), (B)-(1), (©)-(D), (D)-(I)
3 A0, (B-IV), (O-1D), (D)-(1)
(4)  (A)-V), (B)-I), (O)-(1D), (D)-(II)

Options :

212807112617. 1
212807112618. 2
212807112619. 3
212807112620. 4
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(1) (A, (B)-(1), (C)-(I), (D)-(IV)

(2)  (A)-1V), (B)-(ID), (C)-(D), (D)-(II)

(3)  (A)-@, B-IV), (O)-(II), (D)-(I1)
(4)  (A)-(IV), (B)-(I), (O)-(I), (D)-(II)

SsoT26I. 1

212807112618.2

212807112619. 3

212807112620. 4

Sub-Section Number : 3

Sub-Section Id : 2128072056

Question Shuffling Allowed : No
Is Section Default? : null
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Read the passage and answer the question that follow :

Namita is studying in London. Being an Indian she faces a variety of discriminatory behavior
on an everyday basis. For instance, Namita had an Economics examination in the morning. While
she was revising her notes outside the exam hall one of her classmates, Jessica commented that,
“You are from a country of snake charmers, I do not think advanced Economics concepts are your
cup of tea”. Namita felt bad and started to think it over. Although she was prepared well for her
exam but due to nervousness, she was not able to perform well in the exam and failed. Seeing her
result, other students started to call her “Know Nothing Namita’”. Some students started bullying
other Indian students also without provocation. This instance lead the students of other nationalities
to believe that there must be some truth in what everyone says about Indians.

The belief that ‘India is a country of snake charmers’ is an example of :
(1) In congruent attitude
(2) Discrimination
(3) Scapegoating
(4) Stereotyping
Options :
212807112621. 1
212807112622.2

212807112623.3
212807112624. 4
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Read the passage and answer the question that follow :

Namita is studying in London. Being an Indian she faces a variety of discriminatory behavior
on an everyday basis. For instance, Namita had an Economics examination in the morning. While
she was revising her notes outside the exam hall one of her classmates, Jessica commented that,
“You are from a country of snake charmers, I do not think advanced Economics concepts are your
cup of tea”. Namita felt bad and started to think it over. Although she was prepared well for her
exam but due to nervousness, she was not able to perform well in the exam and failed. Seeing her
result, other students started to call her “Know Nothing Namita’. Some students started bullying
other Indian students also without provocation. This instance lead the students of other nationalities
to believe that there must be some truth in what everyone says about Indians.

Prejudice may also get translated into
(1) Stereotype

(2) Discrimination

(3) Hatred or dislike

(4) Pro-social behaviour

the behavioural component.

Options :

212807112625. 1
212807112626. 2
212807112627. 3
212807112628. 4
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Read the passage and answer the question that follow :

Namita is studying in London. Being an Indian she faces a variety of discriminatory behavior
on an everyday basis. For instance, Namita had an Economics examination in the morning. While
she was revising her notes outside the exam hall one of her classmates, Jessica commented that,
“You are from a country of snake charmers, I do not think advanced Economics concepts are your
cup of tea”. Namita felt bad and started to think it over. Although she was prepared well for her
exam but due to nervousness, she was not able to perform well in the exam and failed. Seeing her
result, other students started to call her “Know Nothing Namita’”. Some students started bullying
other Indian students also without provocation. This instance lead the students of other nationalities
to believe that there must be some truth in what everyone says about Indians.

How can Jessica’s attitude towards Indians be changed ?
(1) By punishing Jessica

(2) By telling other students that Jessica is a bad girl
(3) Increasing intergroup contact

(4) By forcing Namita to work hard in her studies

Options :
212807112629. 1
212807112630. 2
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Options :

212807112629. 1
212807112630. 2
212807112631. 3
212807112632. 4
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Read the passage and answer the question that follow :

Namita is studying in London. Being an Indian she faces a variety of discriminatory behavior
on an everyday basis. For instance, Namita had an Economics examination in the morning. While
she was revising her notes outside the exam hall one of her classmates, Jessica commented that,
“You are from a country of snake charmers, I do not think advanced Economics concepts are your
cup of tea”. Namita felt bad and started to think it over. Although she was prepared well for her
exam but due to nervousness, she was not able to perform well in the exam and failed. Seeing her
result, other students started to call her “Know Nothing Namita". Some students started bullying
other Indian students also without provocation. This instance lead the students of other nationalities
to believe that there must be some truth in what everyone says about Indians.

In the above passage, Namita failed due to nervousness arising from Jessica’s comment, thus
strengthening the existing prejudice. This is an example of

(1) Kernel of truth

(2) Self-fulfilling

(3) Scapegoating

(4) Diffusion of responsibility

Options :
212807112633. 1
212807112634. 2

212807112635. 3
212807112636. 4

Question Number : 99 Question Id : 21280728159 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp2
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Options :

212807112633. 1
212807112634.2
212807112635.3
212807112636. 4
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp2

Read the passage and answer the question that follow :

Namita is studying in London. Being an Indian she faces a variety of discriminatory behavior
on an everyday basis. For instance, Namita had an Economics examination in the morning. While
she was revising her notes outside the exam hall one of her classmates, Jessica commented that,
“You are from a country of snake charmers, I do not think advanced Economics concepts are your
cup of tea”. Namita felt bad and started to think it over. Although she was prepared well for her
exam but due to nervousness, she was not able to perform well in the exam and failed. Seeing her
result, other students started to call her “Know Nothing Namita’. Some students started bullying
other Indian students also without provocation. This instance lead the students of other nationalities
to believe that there must be some truth in what everyone says about Indians.

When people continue to hold stereotypes because they think that there must be some truth in
what everyone says about the other group, this is called

(1) Scapegoating

(2) Self-fulfilling prophecy

(3) Kernel of truth

(4) Social cognition
Options :
212807112637. 1
212807112638. 2

212807112639. 3
212807112640. 4

Question Number : 100 Question Id : 21280728160 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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Options :

212807112637. 1
212807112638.2
212807112639. 3
212807112640. 4
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
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z
A completes -~ of a work in 10 days. Then he completes the remaining work with the help of B

20
in 5 days. The time required for A and B together to complete the entire work is :
g
( ) 29 ays
5 Wy
(2) 5 days
= 100
(3) 17 days
(4) 5 days

Options :

212807112201. 1
212807112202.2
212807112203. 3
212807112204. 4

Question Number : 101 Question Id : 21280728051 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Options :

212807112201. 1
212807112202. 2
212807112203. 3
212807112204. 4
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Comprehension MCQ

A trader sold half of his articles at 60% profit, half of the remaining at 20% loss and the rest was
sold at the cost price. In total transaction his gain % or loss % will be :
(1) Gain 20%
(2) Loss 5%
(3) Gain 40%
(4) Gain 25%
Options :
212807112205. 1
212807112206. 2

212807112207.3
212807112208. 4

Question Number : 102 Question Id : 21280728052 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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(1) @149 20%

(2) ®H5%

(3) T 40%

(4) @9 25%

Options :
212807112205. 1
212807112206. 2

212807112207. 3
212807112208. 4
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The price of rice increases by 30%. A family reduced its consumption so that the expenditure of
the rice is up only by 10%. If the total consumption of the rice before the price rise was 10 kg per
month, then the consumption of rice per month at present (in kg) is :

m 7=
@ 8=
(3) 8%
(4 8=
Options :

212807112209. 1
212807112210.2
212807112211. 3
212807112212. 4

Question Number : 103 Question Id : 21280728053 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Correct Marks : 5 Wrong Marks : 1
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Options :

212807112209. 1
212807112210. 2
212807112211.3
212807112212. 4
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If P(E) =0.05, what is the probability of ‘not E’ ?

(1) 0.05
(2) 0.45
(3) 0.95
(4) 0.55

Options :

212807112213. 1
212807112214.2
212807112215.3
212807112216. 4
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7fg P(E)=0.05, il ‘not E' &1 Wifemar = 2t ?
(1) 0.05
(2) 0.45
(3) 0.95
(4) 0.55
Options :

212807112213. 1
212807112214.2
212807112215.3
212807112216. 4
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By selling on book for ¥ 250, loss percentage is 10%. What is the cost price ?
(1) 277.7

(2) 250

(3) 285

4) 315
Options :

212807112217. 1
212807112218.2
212807112219.3
212807112220. 4

Question Number : 105 Question Id : 21280728055 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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(1) 277.7 9T
(2) 250 F9Q
(3) 285 W
(4) 315 F9Q

Options :

212807112217. 1

212807112218.2
212807112219.3
212807112220. 4
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Question Key Details :
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If the mean of 5 observations x, x+2, x +4, x +6 and x + 8 is 11, then value of x :
(1) 7

(2) 43

3) 51

(4) 8
Options :

212807112221. 1
212807112222.2
212807112223. 3
212807112224. 4

Question Number : 106 Question Id : 21280728056 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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1) 7
(2) 43
(3) 51
(4) 8
Options :

212807112221. 1
212807112222.2
212807112223.3
212807112224. 4
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The surface area (in m?) of a sphere of radius 7 cm is :

Usem = EJ
7
(1) 0.0616
(2) 6.16
3) 61.6
(4) 0.616
Options :

212807112225. 1
212807112226. 2
212807112227.3
212807112228. 4
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7 cm 5= 9@t e & gfes &3 (@t der §) wa @

-2

(1) 0.0616

(2) 6.16

(3) 61.6

(4) 0.616
Options :

212807112225. 1
212807112226.2
212807112227. 3
212807112228. 4
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Correct Marks : 5 Wrong Marks : 1
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¥ 800 becomes ¥ 956 in 3 years at a certain rate of simple interest. If the rate of interest is increased
by 4%, what will ¥ 800 amount to in 3 years :

(1) ¥1,020.80

(2) ¥1,025

(3) 1,052
(4) 1,050
Options :

212807112229. 1
212807112230. 2
212807112231.3
212807112232. 4
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(1) % 1,020.80 T
(2) %1,025 &9
(

3) 1,052 %¥9C
(4) 1,050 F9Q
Options :

212807112229. 1
212807112230. 2
212807112231. 3
212807112232. 4
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A boy is running at a speed of p km/h to cover a distance of 1 km but due to slippery ground his

speed is reduced by q km/h (p > q). If he takes r hours to cover the distance, which of the following
condition is true :

(1) %=(p-q)

(2) T=(p—1q)
=1
() pPtq
(4) r=p+q
Options :

212807112233. 1
212807112234.2
212807112235.3
212807112236. 4
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Options :

212807112233. 1
212807112234.2
212807112235.3
212807112236. 4
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Which one of the following numbers is not a prime number ?

(1) 241
(2) 337
(3) 391
(4) 571
Options :

212807112237. 1
212807112238.2
212807112239.3
212807112240. 4

Question Number : 110 Question Id : 21280728060 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
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e § M S19T TE T § 2
(1) 241
(2) 337
(3) 391
4) 571
Options :

212807112237. 1
212807112238.2
212807112239.3
212807112240. 4
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(1) a+b+c
(2) a2+b2+c?
G 0
(4) 1
Options :

212807112241. 1
212807112242.2
212807112243.3
212807112244. 4
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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3 0
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Options :

212807112241. 1
212807112242.2
212807112243.3
212807112244. 4
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How many 3 digit even numbers can be formed from the digits (0 —9) if repetition of digits are
allowed ?

(1) 350
(2) 400
(3) 450
(4) 1000
Options :

212807112245. 1
212807112246. 2
212807112247.3
212807112248. 4
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7fe iRl 1 SeTH Y ATAM T, T (0—9) F FFat 6T i i THGEn IE ST gehdl §
(1) 350
(2) 400
(3) 450
(4) 1000
Options :

212807112245. 1
212807112246.2
212807112247. 3
212807112248. 4
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The sum of an Infinite geometric series is 4 and the sum of the cubes of the terms of the same GP is
192. The Common Ratio of the original geometric series is :

i
M 3
1
2 5
1
® 7
1
4 ~3

Options :

212807112249. 1
212807112250. 2
212807112251.3
212807112252. 4
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M 3
1
2 —3
1
® 7
1
@ —7

Options :

212807112249. 1
212807112250.2
212807112251. 3
212807112252. 4
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A bag contains 6 red, 4 blue and 10 white balls. A ball is picked from the bag at random What is
the probability that it is neither white nor blue ?

20
o
3
¢
2
@ =
1
4 5

Options :

212807112253. 1
212807112254. 2
212807112255.3
212807112256. 4
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3
2 10
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Options :

2128071122531
212807112254.2
212807112255.3
212807112256. 4
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The volume of a sphere of radius r is obtained by multiplying its surface area with :

4
1 3
T
2 3
4r
G 3
(4) 3r

Options :

212807112257. 1
212807112258.2
212807112259. 3
212807112260. 4
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(4) 3r

Options :

212807112257. 1
212807112258. 2
212807112259. 3
212807112260. 4
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Find the area of an equilateral triangle each of whose sides measures 4 cm :

(1) 43 cm?

(2) 43m’

(3) 343 cm?

(4) 343 m?
Options :

212807112261. 1
212807112262. 2
212807112263. 3
212807112264. 4
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IH HHSE I &I T e TST8eh! 91 4 FHI. © ¢
(1) 43 &2

(2) 43 HI2

(3) 33 &2

(4) 343 Ht2

Options :
212807112261. 1
212807112262.2



212807112263.3
212807112264. 4

Question Number : 117 Question Id : 21280728067 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

If CE||DB, what is the value of x:

(1) 45°
2) 30°
(3) 75°
(4) 85°
Options :

212807112265. 1
212807112266. 2
212807112267. 3
212807112268. 4

Question Number : 117 Question Id : 21280728067 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

7If& CE||DB ¥ a1 x %1 |11 8F1

(1) 45°
2) 30°
(3) 75°
(4) 85°
Options :

212807112265. 1
212807112266. 2
212807112267.3



212807112268. 4

Question Number : 118 Question Id : 21280728068 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

A man standing on the bank of a river observes that the angle subtended by a tree standing on the
opposite bank is 60° on his side of Bank. When he moved away 24 m from the bank, he finds the
angle to be 30°. Find the breadth of the river :

(1) 12
2) 18
3) 26
(4) 20

Options :

212807112269. 1
212807112270.2
212807112271. 3
212807112272. 4

Question Number : 118 Question Id : 21280728068 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T2t % TR el U oAfe 3197 foradia formm o2 feord Tk U2 1 60° 3 101 § Sl &1 AR & 24 Hirew
e B24 92 &€ U 1 IV 30° U1 &, O 76l i 9ISk &M :

1) 12
2) 18
3) 26
(4) 20
Options :

212807112269. 1
212807112270. 2
212807112271.3
212807112272. 4

Question Number : 119 Question Id : 21280728069 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Which of the following statements are incorrect ?

(A) Volume of a cone= % mr°h
1 .3
(B) Volume of a cone= 7 T h
2
(C) Volume of a hemispere= 3 e

(D) Volume of a hemispere = 3 ar’

1
(E) Volume of a cylinder = 5 wrh

Choose the correct answer from the options given below :
(1)  (A);(B) and (D) only

(2) (A), (B) and (C) only
(3) (A), (C) and (E) only
4) (O, (D) and (E) only
Options :

212807112273. 1
212807112274.2
212807112275.3
212807112276. 4

Question Number : 119 Question Id : 21280728069 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




e § &9 o1 %Y TTold §

(A) T H T =%‘rrr3h

; 1
(B) ¥ Wl A = g‘n‘rzh

2
(C) G i P = 2 mr
2
(D) SFEA 1 ST = e
1
(E) aaﬂwaqmaq=§m3h

= fou Tu fomedi § @ WE ST T T Hif9T ;
(1) 9 (A), (B) T (D)
(2) I (A), (B
(3) @ (A), (O) T (E)
(4) 9@ (C), (D) T (E)
s 12275, 1
212807112274.2

212807112275. 3
212807112276. 4

Question Number : 120 Question Id : 21280728070 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

The difference between two numbers is 24. If one number is 2 times the second. Then the two
numbers will be :

(1) 36, 12
(2) 48,24
3) 32,8
4) 12,6
Options :

212807112277. 1
212807112278. 2
212807112279. 3
212807112280. 4

Question Number : 120 Question Id : 21280728070 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




<1 Hemsdl 1 TR 24 T Afe vgell Hen g SE it S 21 a1 39 Hemsd il i &1
(1) 36,12

(2) 48, 24
(3) 32,8
4) 12,6
Options :

212807112277. 1
212807112278.2
212807112279.3
212807112280. 4

Question Number : 121 Question Id : 21280728071 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Facing towards North, Ravi walks 30 m. He then turns left and walks 50 m. He again turns left
and walks 30 m. How far is he from his original position and towards which direction ?
(1) 30 m, North
(2) 20 m, East
(3) 20 m, South
(4) 50 m, West
Options :
212807112281. 1
212807112282. 2

212807112283.3
212807112284. 4

Question Number : 121 Question Id : 21280728071 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

S faen =1 $iR g7 #h o 30 WX I §, 79 98 90 gedl € 3R 50 HiX Fad §1 98 R 9 g
® @R 30 Wi g ¥ 1 9% 1wt g feafa § forg foon ¥ o) fraft g2 82

(1) 30 "X W

(2) 20 e gd

(3) 20 Hiex fam

(4) 50 Tz ufygm
Options :

212807112281. 1
212807112282.2
212807112283.3
212807112284. 4

Question Number : 122 Question Id : 21280728072 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value




[Comprehension IMCQ |

Find from amongst the figure, the one which resembles the pattern formed when the transparent
sheet is folded along the dotted line.

<

(4)

Options :

212807112285. 1
212807112286. 2
212807112287.3
212807112288. 4

Question Number : 122 Question Id : 21280728072 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




e gReelt vite @ forgfend W & Wy Higd € 1 o7 e & | areft STieRfa 3|

(4)

Options :

212807112285. 1
212807112286. 2
212807112287.3
212807112288. 4

Question Number : 123 Question Id : 21280728073 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Find out the wrong number in the sequence :
40960, 10240, 2560, 640, 200, 40, 10

(1) 40
(2) 640
(3) 200
(4) 2560

Options :

212807112289. 1
212807112290. 2
212807112291. 3
212807112292. 4

Question Number : 123 Question Id : 21280728073 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Y H & TS o e Fd

40960, 10240, 2560, 640, 200, 40, 10
(1) 40

(2) 640

(3) 200

(4) 2560

Options :

212807112289. 1
212807112290. 2
212807112291.3
212807112292. 4

Question Number : 124 Question Id : 21280728074 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Two statements in the following questions, followed by two conclusions I and II. Read the conclusion
and decide most suitable answer.

Statements : All horses are goats.
No goat is a donkey.
Conclusions :
(I)  No horse is a donkey.
(II) Atleast some goats are horses.
(1) If only conclusion I follows.
(2) If only conclusion II follows.
(3) If both conclusion I and II follows.
(4) If none of the conclusion follows.

Options :

212807112293. 1
212807112294. 2
212807112295.3
212807112296. 4

Question Number : 124 Question Id : 21280728074 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




=1 997 H <1 e AR I o 1= < Fehe 1 SR 11§ end bl Uge Had S ST ol e ol
HUA : [t Hre SR B
IS TR T A )
forerd -
() e Hrer T T
) 9 ° FHA FD THT =E T
(1) Afg Faat F=hd [ STE HLE 2|
(2) afe Faa ferd 11 A7 e
(3) afg St frepd 1 &R I 1979 &% 21
(4) Afz FE off faerd e & wear 21

Options :

212807112293. 1
212807112294. 2
212807112295. 3
212807112296. 4

Question Number : 125 Question Id : 21280728075 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Look at the statement and mark the correct answer on the conclusions that follows :
Statements : A. Shubham is my cousin.

B. A cousin may be a aunt’s son, uncle’s son or son of parent’s step-siblings.
Conclusions :

(I) ~ Shubham is my sisters son.
(II)  Shubham is my uncle’s son.
(1) Only conclusion I follows.
(2) Only conclusion II follows.
(3) Both conclusion I and II follows.
(4) Neither conclusion I nor II follows.

Options :

212807112297. 1
212807112298.2
212807112299. 3
212807112300. 4

Question Number : 125 Question Id : 21280728075 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




HYF HI <9 37 feu 7w ferd W g s = fatEa =5

HIA : A, IV AU et o9 #)
B.  HE WE 37U R W2, 3THe KT o A G191 F Giael TE-S.T 1 92 B
TFHa1 B |

femd
1) 99 9 5 F +4 )
(II) ¥ HL =71 1 92T B
) Afe hae Frshd [ STE0 &l 2|
(2) afg kaed FreRd 11 SFTE & 2
) af S frssrd 1 8TR I steer &3 €1
(4) Afg #g off Frowd s 7 &L B

Options :

212807112297. 1
212807112298. 2
212807112299. 3
212807112300. 4

Question Number : 126 Question Id : 21280728076 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Five children Arun, Bhuvi, Charu, Deepak and Emmy are sitting along the corners of a pentagonal
table facing the centre. Bhuvi is between Emmy and Charu. Deepak is to the right of Emmy. Who
is to the left of Charu ?

(1) Bhuvi

(2) Arun

(3) Charu

(4) Deepak
Options :

212807112301. 1
212807112302.2
212807112303. 3
212807112304. 4

Question Number : 126 Question Id : 21280728076 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




Tie I 760, V&, 9%, <9 SN 3 Uk YHRIg Wl o il UX g ki SR GE e 93 ¥ | yE,
Taf SR =T & W9 931 T SiUe, 3 g 81 WE o 9l 3IR & § 2

(1) ot

(2) SI&T

(3) =&

(4) <Iuh
Options :

212807112301. 1
212807112302. 2
212807112303. 3
212807112304. 4

Question Number : 127 Question Id : 21280728077 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Find out the figure that can be formed from the piece given below :

N
0 I

(4)

elclcl®

Options :

212807112305. 1
212807112306. 2
212807112307. 3
212807112308. 4



Question Number : 127 Question Id : 21280728077 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

=1 feu U AT FF STHfaE § RA-H SAHA I S Hehell €, T I :

N
0 I

(4)

alEle

Options :

212807112305. 1
212807112306. 2
212807112307. 3
212807112308. 4

Question Number : 128 Question Id : 21280728078 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Amar is 16™ from the left end in a row of boys and Vishal is 18 from the right end. Satish is 11t
towards the right of Amar and 3" towards the right of Vishal side end. How many boys are there
is a row ?

(1) 45
2) 26
(3) 39
(4) 41

Options :




212807112309. 1
212807112310.2
212807112311. 3
212807112312. 4

Question Number : 128 Question Id : 21280728078 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

TAEHI i U Ukt T TR 918 BR Y 16 F T W E IR faener T B8R 4 18 & T W T Hdw, TR 9
TH & 11 & e W € oiR faumer | g iR | e v W B dfew A foran e ® 2

(1) 45
2) 26
3) 39
4) 41
Options :

212807112309. 1
212807112310. 2
212807112311.3
212807112312. 4

Question Number : 129 Question Id : 21280728079 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Choose the correct mirror image :

XA

(1)

Options :

212807112313. 1
212807112314.2
212807112315.3
212807112316. 4

Question Number : 129 Question Id : 21280728079 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Q—Eﬁmgﬁfﬁ’lﬁﬁ

S
(1) y T
2) l
O o :
(4.) . AKX

212807112313. 1
212807112314.2
212807112315. 3
212807112316. 4

Question Number : 130 Question Id : 21280728080 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Commemoration of national days should always be encouraged in schools and colleges. Which of
the following statement given below is a strong argument :

(A) This type of commemoration gives opportunity to children and youth to value to contribution
of people who built our nation.

(B) There is nothing wrong in celebrating a day and enjoy once is a while.
(C) These events hamper the focus of students from regular study.

(1) Argument (A) and (B) are strong

(2) Only argument (A) is strong

(3) Argument (B) and (C) are strong

(4) Only argument (C) is strong

Options :
212807112317. 1



212807112318.2
212807112319.3
212807112320. 4

Question Number : 130 Question Id : 21280728080 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

el SIR shlers H U feas wAH o forg ghen diearted foran s =nfew | Foafafaa 5 & &ia |1 oA

T Tk 1 Yoo L 2

(A) TH YR S SRS Fawsii 31 a0 1 3 @l o AFTEH I 7eed o ol ST o § o #am
ez k1 i e

B) it U for Scma 1 A A SR S ST o H $ off Tor T F

C) 3wl it st | BE % S Y e FE S

) % (A) 3R (B) Ted B

2)  Fad 7 (A) U9 T

) @ (B) R (C) TuA Tl

(4) A Tk (C) ¥ad 2 |

Options :

212807112317. 1
212807112318. 2
212807112319.3
212807112320. 4

Question Number : 131 Question Id : 21280728081 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

How many cubes are there in a group ?

(1) 10
2) 16
(3) 18
(4) 20

Options :

212807112321. 1
212807112322.2
212807112323.3
212807112324. 4



Question Number : 131 Question Id : 21280728081 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

IR HfFH AT ?

(1) 10
() 16
3) 18
4) 20

Options :

212807112321. 1
212807112322.2
212807112323.3
212807112324. 4

Question Number : 132 Question Id : 21280728082 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Clothes are not washed properly in hard water.
Reason (R) : Hard water contains many minerals.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

212807112325. 1
212807112326.2
212807112327.3
212807112328. 4

Question Number : 132 Question Id : 21280728082 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




=1 <1 e feu o € e eifueRem (A) % 9 H fafed § o 98w 39% R (R) F 9 H T
MUK (A) :  FUS FIR el H 31! Te & &l e 5

THRUT(R) : FSR 51 H 9gd IR @i 78 5 7

IR KUl F YR H, 74 U 7 faskedi § § Haifesr Suge 36 1 997 Fif

(1) (A) T (R) SHI T&T € 741 (R), (A) il T =0 ¢

(2) (A) T (R) 1 TET € o1 (R), (A) FT L A0S T ©

3) (A) FE & A (R) & 761 §

(4) (A) T 7 g dfeh (R) Wl ©

Options :

212807112325. 1
212807112326. 2
212807112327.3
212807112328. 4

Question Number : 133 Question Id : 21280728083 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Complete the picture series :

V

-~

(4)

>
@@@@@

Options :
212807112329. 1



212807112330. 2
212807112331. 3
212807112332. 4

Question Number : 133 Question Id : 21280728083 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Tt «j@at &1 9 e :

~

Alla|[V

(4)

\4
A4
A\
v

Options :

212807112329. 1
212807112330.2
212807112331. 3
212807112332. 4

Question Number : 134 Question Id : 21280728084 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Select the figure from the options which will continue the series established by the problem figure :

—

(1)

.
O —
M=
(4) ‘ | ‘ |

212807112333. 1
212807112334.2
212807112335.3
212807112336. 4

Question Number : 134 Question Id : 21280728084 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




fashea § 9 39 o3 o1 gHT 1 1= fou fa & g wfua sfaen <61 Sl Wi

(2)

=
E
1L

(4)

Options :

212807112333. 1
212807112334.2
212807112335.3
212807112336. 4

Question Number : 135 Question Id : 21280728085 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

If EFFECTIVE is coded as FEGDDSJUF, then how RELATIVE can be written in that code ?
(1) TDNZVHXD

(2) TCNAVGXC

(3) SDMZUHWD

(4) SCMAUGXD

Options :

212807112337. 1
212807112338. 2
212807112339.3
212807112340. 4

Question Number : 135 Question Id : 21280728085 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :



Key Value
Comprehension MCQ

7fq EFFECTIVE %1 FEGDDSJUF & &9 H &2 919l § for@n Sl €, 98 RELATIVE okl ehd &2 el |
feran s ?

(1) TDNZVHXD

(2) TCNAVGXC

(3) SDMZUHWD

(4) SCMAUGXD

Options :

212807112337. 1
212807112338.2
212807112339.3
212807112340. 4

Question Number : 136 Question Id : 21280728086 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Find the next term in the alpha-numeric series :
Z1A, W8C, T27E, Q64G, N1251, _ 2?2
(1) K21eL
(2) K216K
(3) L343K
(4) L343L
Options :
212807112341 1
212807112342.2

212807112343.3
212807112344. 4

Question Number : 136 Question Id : 21280728086 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
e <t I SEen | e ug 9 Y
Z1A, W8C, T27E, Q64G, N125I, _ 2
(1) K216L
(2) K216K
(3) L343K
(4) L343L
Options :

212807112341. 1
212807112342.2
212807112343.3
212807112344. 4

Question Number : 137 Question Id : 21280728087 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ

What can be placed at “?” if both side of “: " have same relationship between numbers :
85 :42::139: _ %

(1) 68
(2) 69
3) 70
4) 67

Options :

212807112345. 1
212807112346. 2
212807112347.3
212807112348. 4

Question Number : 137 Question Id : 21280728087 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

‘2 S T UL T AT, SFR " G OO & Seed H gy U ST B
60 4210139y _ 7

—

(1) 68
2) 69
3) 70
4) 67
Options :

212807112345. 1
212807112346. 2
212807112347.3
212807112348. 4

Question Number : 138 Question Id : 21280728088 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Following question is based on the information given below :
(i) ‘RxS means R is father of &

(i) ‘R—S5 means ‘R is sister of &’

(i) ‘R+S means ‘R is mother of &

(iv) ‘R+S means ‘R is brother of &

In the expression A+ BXC+D how is C related to A ?

(1) Son

(2) Grandson

(3) Granddaughter

(4) Grandmother
Options :

212807112349. 1



212807112350. 2
212807112351. 3
212807112352. 4

Question Number : 138 Question Id : 21280728088 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

frefeafad gea == <t &0 SR 9 ST 2
(i) RxSwH 34 R,S o &

(i) R-SH 3T R SH o&TT

(i) R+SH A, R, S hl AT T

(iv) R+SH 34T R, S 416 2|
sifeafsd A+BxC+D H C, A ¥ forg =R Heifud 21
(1) 3

(2)

(3)

(4) =

Options :

212807112349. 1

212807112350.2

212807112351. 3
212807112352. 4

Question Number : 139 Question Id : 21280728089 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

If Today is Monday, After 62 it will be :
(1) Wednesday
(2) Saturday
(3) Sunday
(4) Thursday
Options :
212807112353. 1
212807112354. 2

212807112355.3
212807112356. 4

Question Number : 139 Question Id : 21280728089 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




fg o7Te AHaR €, 62 f&AT & 918 790 B9

(1) F¥aR

(2) wIfHeR

CIEEIL

(4) FEHfdER
Options :
212807112353. 1

212807112354.2
212807112355.3
212807112356. 4

Question Number : 140 Question Id : 21280728090 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A clock is started at noon. By 20 minutes part 6, the hand had has turned through :

(1) 175°
(2) 180°
(3) 185°
4) 190°
Options :

212807112357. 1
212807112358.2
212807112359. 3
212807112360. 4

Question Number : 140 Question Id : 21280728090 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
e TS SR o 9T IE g8 | 6 dutt 20 e 9 HE kT gE fohae g gt 2T
(1) 175°
(2) 180°
(3) 185°
(4) 190°
Options :

212807112357. 1
212807112358. 2
212807112359.3
212807112360. 4

Question Number : 141 Question Id : 21280728091 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Who has been honoured with the Golden ball award in the FIFA World Cup 2022 ?
(1) Kylian Mbappe
(2) Luka Modric
(3) Lionel Messi
(4) Enzo Fernandez
Options :
212807112361. 1
212807112362. 2

212807112363. 3
212807112364. 4

Question Number : 141 Question Id : 21280728091 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

i fava Y 2022 H ford Tiiee od sfeme § gt fon T ?
(1) Terforem Taam

(2) T HifgH

(3) fordra A

(4) TS EAES

Options :

212807112361. 1
212807112362.2
212807112363. 3
212807112364. 4

Question Number : 142 Question Id : 21280728092 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : The 73" Amendment granted constitutional states to the Gram Sabha.

Reason (R) : The Balawant Rai Mehta committee mentioned the Gram Sabha.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3)  (A) is true but (R) is not false

(4) (A) is false but (R) is true

Options :

212807112365. 1
212807112366. 2
212807112367.3
212807112368. 4



Question Number : 142 Question Id : 21280728092 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

e < wyA feu e E: v feRed (A) % w9 | fafad § ot <9 39 @I (R) F €9 H T
AFHRAT (A): 73 & HIMHA o g UTH HAT h1 HAHeh =1 fad1 0|

HRT (R) : sereid T Hedl wiafa 3 am g 6 Sfeate fean

IR KUl F YR H, 74 U 7 faskedi § § Haifesr Suge 36 1 997 Fif

(1) (A) T (R) S TET € 9901 (R), (A) FI T & ©

(2) (A) T (R) T TE E T (R), (A) FT TE =S TE ¥

(3) (A) 5@l g dferd (R) T8 721 8

(4) (A) T 7 g dfeh (R) Wl ©

Options :

212807112365. 1
212807112366. 2
212807112367.3
212807112368. 4

Question Number : 143 Question Id : 21280728093 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The 36t National Games 2022 was held in which of the foliowing gtate ?
(1) Goa
(2) Gujarat
(3) Haryana
(4) Karnataka
Options :
212807112369. 1
212807112370. 2

212807112371. 3
212807112372. 4

Question Number : 143 Question Id : 21280728093 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

36 91 UL Wal 2022 %A § T4 H RfS gt ?

(1) e
(2) TSI
(3) =i
(4) HAlR®H



Options :

212807112369. 1
212807112370. 2
212807112371. 3
212807112372. 4

Question Number : 144 Question Id : 21280728094 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Who among the following gave the popular slogan “Home Rule is my birthright and I will have
it’ 7

(1) Annie Besant

(2) Lokamanya Tilak

(3) Dadabhai Naoroji

(4) Aurobindo Ghose

Options :

212807112373. 1
212807112374.2
212807112375. 3
212807112376. 4

Question Number : 144 Question Id : 21280728094 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

e TR 9 g eIt g 1 38w '’ fefated | 9 fege disfim A e ?
(1) T eEe

(2) R faaes

(3) REIVE TS

(4) orfeel =

Options :

212807112373. 1

212807112374.2

212807112375.3
212807112376. 4

Question Number : 145 Question Id : 21280728095 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




Match List - I with List - 1L
List - I
(A) First speaker of Lok Sabha
(B) First Indian to get Bharat Ratna Award

(C) First Indian recipient of Nobel Prize in Economics

(D) First Indian Nobel Laureate

Choose the correct answer from the options given below :

(1) (A)-), (B)-m), [©)-@), (D)-(IV)
(2)  (A)-D), (B)-10), ([©)-1V), (D)-[0)
(3)  (A)-(1D), (B)-(11), ©)-@), (D)-(IV)
(4)  (A)-IV), (B)-(ID), (O)-(I), (D)-(IT)

Options :

212807112377. 1
212807112378.2
212807112379.3
212807112380. 4

List - IT
) Dr. Amartya Sen
I) G.V. Mavalankar
I) Dr. S. Radhakrishnan
IV) Rabindra Nath Tagore

Question Number : 145 Question Id : 21280728095 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

el - [ 61 Tl - 11 o |1 T shifeg
et - 1
(A) AFHT R Yge TR (316981)
(B) Ugel WRdrd 8 vRa T ger fean =
(C) UBel YRAE fH A9 o Alee [EhR 9 g31l
(D) TRl YRAT Arsiel G fasid
e feu 7 fawedi | 9 W&t W F T R

(1) (A)-1D), (B)-(I0), (©)-1), (D)}-(IV)
(2) (A1), (B)-(L), (©)-1V), (D)-[I)
(3)  (A)-(10), (B)-(1), (O)-(1), (D)-(IV)
(4)  (A)-AV), (B)-(IH), (O)-(1), (D)-(1)
Options :

212807112377. 1
212807112378.2
212807112379.3
212807112380. 4

Question Number : 146 Question Id : 21280728096 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Ministry of Health and Family Welfare has launched “Nikshay Poshan Yojana’ related to eradication
of which of the following disease ?

(1) Dengue
(2) Malaria
(3) Tuber colosis

(4) Kala-Azar

Options :

212807112381. 1
212807112382.2
212807112383.3
212807112384. 4

Question Number : 146 Question Id : 21280728096 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

‘Tameey Ue R e Haerd’ gR wifud e v Fsen s Hl fomrl o e o fad g% o
T off ?

(1) <71
(2) W
(3) S[EEAIEH
(4) RICT-3TSR
Options :
212807112381. 1
212807112382.2

212807112383.3
212807112384. 4

Question Number : 147 Question Id : 21280728097 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The fibre crop which is known as the Golden Fibre ?
(1) Cotton
(2) Hump
(3) Natural Silk
(4) Jute
Options :
212807112385. 1
212807112386. 2

212807112387.3
212807112388. 4

Question Number : 147 Question Id : 21280728097 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value




[Comprehension IMCQ

Tieed BEs & 9 9 vafed wEd & &9 § {68 511 311 2 2

(1)

(2) BH(HT)
(3) e T
(4)
Options :

212807112385. 1
212807112386. 2
212807112387.3
212807112388. 4

Question Number : 148 Question Id : 21280728098 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

The Credit of inventing soap by using Mustard oil and some alkalies goes to which of the following
scientist ?
(1) Chakrapani
(2) Sushruta
(3) Nagarjuna
(4) Patayjali
Options :
212807112389. 1
212807112390. 2

212807112391. 3
212807112392. 4

Question Number : 148 Question Id : 21280728098 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Tl & de SR FH &Y w1 IYAN Fk dEA F AfaeRR w0 @ 49 fefafed § 9 fea daftre #
ST 8 2

(1) =shRaIo

(2) 944

(3) RIS

(4) Hesife
Options :

212807112389. 1
212807112390. 2
212807112391. 3
212807112392. 4

Question Number : 149 Question Id : 21280728099 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - IL

List - 1 List - II

(World Organization) (Headquarters)
(A) BRICS ()  Geneva (Switzerland)
(B) NATO (I) Shanghai (China)
(C) WTO (II) Kathmandu (Nepal)
(D) SAARC (IV) Brussels (Belgium)

Choose the correct answer from the options given below :
(1) (A)-D), (B)-(1v), (O)-(0), (D)-(IL)

(v
(2)  (A)-(IV), (B)-(ID), (C)-(D), (D))
(3)  (A)-(I), (B)-(IV), (©)-(D), (D))
(A)-~( )

(4)  (A)-1D), (B)-IV), (C)-(1L), (D)-{

Options :

212807112393. 1
212807112394.2
212807112395.3
212807112396. 4

Question Number : 149 Question Id : 21280728099 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

el - [ 61 Tl - I o |1 T ifeg

A1 Tell-11
(fava wwe) (e )

(A) Tfs= (BRICS) (1 e (fagswele)
(B) FEl (NATO) () e (=)

(C) T3 (WTO) (III) FISHIZ (F9Te)
(D) ¥ (SAARC) (IV) g9a (dfesmm)

= fou T famedl O O & ST F T FHISC
(1) (A)-(ID), (B)-(1V), (O)-(0), (D)-(I)

(@) (A)-1V), (B)-11), (C)-(1), (D)-
(3)  (A)-(10), (B)-AV), (C)-(D), (D)-
4)  (A)-11), (B)-AV), (©)-(I), (D

Options :

212807112393. 1
212807112394.2
212807112395.3
212807112396. 4

"
" e e
1 —
[
= =
e



Question Number : 150 Question Id : 21280728100 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The only continent through which Tropic of Cancer, Equator and Tropic of Capricorn passes ?
(1) Asia

(2) Australia

(3) Antarctica

(4) Africa

Options :

212807112397. 1
212807112398.2
212807112399. 3
212807112400. 4

Question Number : 150 Question Id : 21280728100 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

THIF 1 HETE § e b, FeRE SR e T € 7
(1) Tfrn

(2) Ao

(3) sicrhfeem

(4) STHIHI
Options :

212807112397. 1
212807112398.2
212807112399. 3
212807112400. 4

Question Number : 151 Question Id : 21280728101 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Given below are two statements :

Statement (I) : Right to information has been granted to every citizen of India under Right to
information Act, 2005 which came into force on 121 October, 2005.

Statement (II) : Right to information is a fundamental Right.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement 1I is false
(4) Statement I is false but Statement II is true

Options :



212807112401. 1
212807112402. 2
212807112403. 3
212807112404. 4

Question Number : 151 Question Id : 21280728101 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
== 1 %A fou U g

HUA () : I & AMYHR AT, 2005 * Harid YR & JASF TRIF 1 A1 1 AfYRR fg7r 72
¥l ST 12 STRSR, 2005 T AR g

HAT (I1) : G H1 ATIFR T Hifcrss SIewr 21

IHIE YA o e |, 49 fqu U fashedi § ¥ W&t ST 994 i :

(1) w9 I 3R ReF I <91 91 ©

(2) I 3R HAT [ SHI STHA T

(3) hFIHA B, U e I 379 §

(4) HUF I IEA T, Afhd R 1 A 8

Options :

212807112401. 1
212807112402. 2
212807112403. 3
212807112404. 4

Question Number : 152 Question Id : 21280728102 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - IL
List - 1 List - II
(Important Days) (Date)
(A) National Youth Day @) 28" February
(B) Army Day (I) 12" January
(C) National Science Day (II1) 15 January
(D) National Safety Day (IV) 4th March

Choose the correct answer from the options given below :
(1) (A)-D), (B)-(1), (©)-(1V), (D)-[0)
(2) (M-, B)-(10), (©)-1), (D)-(IV)
(3)  (A)-(I), (B)-(ID), (O)-(1), (D)-(IV)
(4)  (A)HIV), (B)-(IH), (O)-(0), (D)-(I)

Options :
212807112405. 1
212807112406. 2



212807112407. 3
212807112408. 4

Question Number : 152 Question Id : 21280728102 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

el - [ 61 it - 11 6 |1 fHel i

-1 -1
(et foaw) (fafer)

(A) T Fa feew (D 28th wEEd
(B) 9 feew () 12t SR
(C) U fogr fead () 15t SHERt
(D) U Hean fearg (IV) 4th 79

= feu e faeredi § 9 OE S &1 999 Fif9C ;

(1) (A)-(0), (B)-(), (©)-(1V), (D)-(0)
(2)  (A)-(D), (B)-0), ©)-D), (D)-(IV)
(3)  (A)-(D, (B)-(I ) ©-@), (D)-(IV)
(4)  (A)-IV), (B)-(I), (O)-(1), (D)-(1I)
Options :

212807112405. 1
212807112406. 2
212807112407. 3
212807112408. 4

Question Number : 153 Question Id : 21280728103 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The first person to use crystal for radio wave detection was :
(1) J.C. Bose

(2) H.C. Verma

(3) S.N. Bose

(4) C.V. Raman

Options :

212807112409. 1
212807112410.2
212807112411. 3
212807112412. 4

Question Number : 153 Question Id : 21280728103 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Ifedl T 1 g T o fau foree o1 SUART R gl gea Safad 9 ¢
(1) SILH. §"
(2) u=HH. Al

(3) TEW. SH
(4) i T
Options :

212807112409. 1
212807112410.2
212807112411. 3
212807112412. 4

Question Number : 154 Question Id : 21280728104 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the planet have no satellite ?
(A) Mercury

(B) Neptune
(C) Satrun
(D) Venus

Choose the correct answer from the options given below :
(1) (B) and (D) only

(2) (A) and (B) only

(3) (B), (C) and (D) only

(4) (A)and (D) only

Options :

212807112413 1

212807112414.2

212807112415. 3
212807112416. 4

Question Number : 154 Question Id : 21280728104 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




H | g H FHE STIE el ¢ |

(A) 98

(B) @&
(C) =
(D) Th

= feu Tu fasredi § 9 W& 3T 1 997 HifaT
(1) e (B) 3R (D)

(2) “had (A) 3R (B)
(3) e (B), (C) ¥R (D)
(4) e (A) 3 (D)
Options :

212807112413. 1
212807112414.2
212807112415.3
212807112416. 4

Question Number : 155 Question Id : 21280728105 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

ISRO Launched “GSAT-6A" satellites on :
(1) 31 August, 2017

(2) 29 March, 2018

(3) 05 June, 2017

(4) 12 January, 2018

Options :
212807112417. 1
212807112418. 2

212807112419.3
212807112420. 4

Question Number : 155 Question Id : 21280728105 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

SIHE (GSAT)-6A SHU o 5T &hd Ya&ifud foman 1 :
(1) 31 ¥, 2017

(2) 29 =M, 2018

(3) 05 S, 2017

(4) 12 SHe, 2018

Options :

212807112417. 1
212807112418. 2
212807112419. 3



212807112420. 4

Question Number : 156 Question Id : 21280728106 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - II.
List - 1 List - II
(Name of City) (Famous for production of)
(A) Ahmedabad (I)  Machine tools
(B) Bangalore (II)  Aluminium
(C) Bhilai (III) Textiles
(D) Renukoot (IV) Steel

Choose the correct answer from the options given below :

(1) (A)-(0), B)-(ID), (O)-(I1D), (D)-(IV)

(2) (A, (B)-(I), (©)-1V), (D)-@)
3)  (A)-ID), (B)-(I), (O-(IV), (D)-(I)
(4)  (A)-IV), (B)-(I), (©)-1I), (D)-(0)
Options :

212807112421. 1
212807112422.2
212807112423. 3
212807112424. 4

Question Number : 156 Question Id : 21280728106 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

-1 § Geit-11 1 e i
5 T-11

(I % W) (Iare & fo ufg)
(A) STEHSHR 1) w9 A
(B) sTER 1) uegEfE
(C) fTyem (Ill) CFIeTEA
(D) ¥T%e (V) e
A= feu U faredi ¥ 9 WEr S h1 994 HiIT9U ;
(1) (A)-(D), (B)-(II), (O)-(11I), (D)-(IV)
(2) (A)-1I), (B) (HI) (C)( ) (D)-(I)
(3)  (A)~(IID), ), (O)-(IV), (D)~(IT)
(4) (A)-(IV), ( )(HI) (C)( ) (D)-O
Options :

212807112421. 1



212807112422.2
212807112423.3
212807112424. 4

Question Number : 157 Question Id : 21280728107 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The constitution authorises the president to make provisions for discharge of duties of Governor in
extraordinary circumstances under the :

(1)  Article 160
(2) Article 162
(3) Article 165
(4)  Article 310

Options :

212807112425. 1
212807112426. 2
212807112427. 3
212807112428. 4

Question Number : 157 Question Id : 21280728107 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

ofgurm efa & sraem afifeafadi § o & wdedi & e s9 % fau geam
Af¥a e T

(1) =8 160

(2) STT=% 162

(3) =% 165

(4) =R 310

Options :

212807112425. 1
212807112426.2
212807112427.3
212807112428. 4

Question Number : 158 Question Id : 21280728108 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Who was the Chief Justice of India when public interest litigation (PIL) was introduced to the
Indian Judicial system ?

(1) M. Hidayatullah

(2) AM. Ahmadi

(3) P.N. Bhagwati

(4) A.S. Anand



Options :

212807112429. 1
212807112430.2
212807112431.3
212807112432. 4

Question Number : 158 Question Id : 21280728108 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

LA ~1reR JuTled! Tel Sifed Af=eht (PIL) 1 @R] fohar 741 o1 39 999 YRd o & = H 9 ?
(1) uAfearrgeen

(2) TUUH HEHS

(3) HLEA. e

(4) TUHE g

Options :

212807112429. 1
212807112430. 2
212807112431. 3
212807112432. 4

Question Number : 159 Question Id : 21280728109 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Polar areas have high atmospheric pressure.
Reason (R) : These areas receive minimum sunshine throughout the year.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

Options :

212807112433. 1
212807112434.2
212807112435.3
212807112436. 4

Question Number : 159 Question Id : 21280728109 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




=1 <1 e feu o € e eifueRem (A) % 9 H fafed § o 98w 39% R (R) F 9 H T
ke (A) : Y9 €60 W 3= IAVEH S9F B 2

HIOT (R) : T &3 g Y A WIS U I B

ST FUF F yHW H, 9 fau T famed ¥ w9 39 W= Hif

(1) (A) 7 (R) S Tl € 9901 (R), (A) i HE =amen &

(2) (A) T (R) < HE € AR (R), (A) FHT HE =0 T ©

(3) (A) W& g «ifr (R) W& 71 €

(4) (A) 9@l & € «ifeh (R) W1 8

Options :

212807112433. 1
212807112434.2
212807112435.3
212807112436. 4

Question Number : 160 Question Id : 21280728110 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The first satellite in space was launched by :

(1) US.A.
(2) United Kingdom
(3] LS8R,
(4) France
Options :

212807112437. 1
212807112438.2
212807112439. 3
212807112440. 4

Question Number : 160 Question Id : 21280728110 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
siafie # vgen IWE fhas g Sier T
(1) FTEw,

(2) IiEee fHmed
(3) T THTH.IR
(4) wE

Options :

212807112437. 1
212807112438.2
212807112439.3
212807112440. 4



